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}�~6�B�D��}��D���8�����
L0 = 2, L1 = 1 �8�l�|� Ln = Ln−1 + Ln−2 ���l� n ≥ 2 �8� � � � �Z�(�Z�|�(���P�n��� �|� � L �m��J� �P� � � �|�i�R� � �g�|� �l� �l�n� � � � �|����� m ≥ 2 �R�m�d� � �g��� � �|� b (mod m) �|� � � � �Z� � � vL(m, b)

�Z�|� � �|�¡�R� �6�m�� �g� � ��� � �|� ��� �m� b � � � � ����� � �|� � � � � �q¢y��� �l� �Z�g�T�¤£D¥R� � � � � �m� L � � � ��� � m
�¦ � �Z�|���%¥ � ¥R� � �#§ � � � �q¥��¨�¤�Z�g� �©� �g� � � ���R�ª�Z�|� � � ��� �Z� � � � vL(pk, .) ���l� k ≥ 1

� � �Z�|� �P� ����� p = 2 �l�|�
p = 5

�#«@��� �|¬��(� � �Z� � � �­�m� � � ��� � � � � �Z� � � � � � � � � � � ����¥ �m�d�¯®°�l� � �|� � �J� � � � � � � � � �g�����±�Z�%���q¥|� � �Z� � � L��� � �g�±�Z��� � �T� � �����i� � � ��� �p² � �m� � � � �|� ��³ �J�D�|���%�T� � ��´j� �|¬ � �¯� � � � � � �T�Z� § �±�Z�¯�Z�|�ª´ � � §=� �T� � �|�����±� � �l� �Z�|�� � � ����� �P� �5�]��� � �d�m�g� �J���P�n�|� ��� �%� � � ��� � �Z�|�g����� � �Z�&¥ � �¨�q���g�
²lµlµaµ(¶ � �Z���g� � �Z� � �@�j�|�j·T� � ���¸� � �����±¹ �P� �Z� � ��º]»a» ~ ³lµ �]»a» ~D¼a½j�¾ � �j§ �m� � � º �J� �g� �=���P�n�|� ��� �%� � � �|� � ¥ � ���q�@¥ � § � � � � �T� � �|�����±� � � � � �|� � ¥ � ���q�g�g�
�@� � �g��¿°� �ÁÀ � ¿°�g�¡�R� � ¼ µ � ²mµaµ ½

Â6Ã !�Ä@ÅRÆ#Ç ÈªÉªÊuÅ#ËXÇ�Ä�Ì6Ä¡ÈÍÆ#ÎÐÏdÉªÑZÅRÏ
Ò�ÓyÔ#Õ°Ö�×�Ø�Ù ÓyÖ�ÚPÛVÜuÝ]Þ8ßnÕnÝ�ÚPà8Õ Ö8ÜdÚPÓáÜdÖ+Ü|â¡Þ5Ö5Ó­â�ÜdÛPãäÝ]ÓáåPÚPÛPÓyæ5Þ5ÚPÓáÜdÖ�Ü|âqç�åmÕnè�Þ8Õ°Ö8ßnÕ
Ü|âiÓyÖ�ÚVÕ°é#Õ°ÛVå©çdå
â�ÜdêyêáÜjë(åjì�í=Õ°Ú A = (an)n=0,1,...

æ¸Õ åPÞ8ßmà�ç�åVÕnèJÞ8Õ°Ö8ßnÕbç|Ö8Ý
m ≥ 2

ç|Ö�ÓyÖ�ÚVÕ°é#Õ°Ûjì A Óáå,ßjç|êyêáÕnÝ
rut8Q f°Ydca` xîe�OdQïk°WTclQZðar]WXMPO�`bYjOdrux­Y

m ñ ÓyÖ'ÚPà8Õ¯åVÕnèJÞ8Õ°ê6ãbÜRåPÚPêyò¸ó8Þ=ì5Ý6ì5ãbÜJÝ m ô Ó­â

lim
N→∞

1

N
· #{n < N : an ≡ b (mod m)} =

1

mà8ÜdêáÝ5åõâ�ÜdÛÁç|Ö�ò
b ∈ {0, ...,m − 1} ìÐöuÕnèJÞ8Õ°Ö8ßnÕnå(ÚPàÐç|ÚÁç|ÛVÕ&Þ=ì5Ý6ì]ãbÜuÝ m

ç|ÛVÕR÷8ÕRì é8ìy÷5Ü|â%ÓyÖ�ÚVÕ°ÛVÕnåVÚ
ÓyÖ+ÚPà8ÕøßnÜdÖ8åPÚPÛPÞ8ß°ÚPÓáÜdÖ�Ü|âõÖ�Þ5ãbÕ°ÛPÓáßjç|êiÛmç|Ö8Ý5ÜdãùÖJÞ5ã©æDÕ°Û©é#Õ°Ö8Õ°Ûmç|ÚVÜdÛVå çdå&âTÜdÛNåPÞ8ßVà�ç�åmÕnè�Þ8Õ°Ö8ßnÕ
ÚPà8Õ

an/m
ç|ÛVÕ©ßjç|Ö8Ý]ÓáÝ8ç|ÚVÕnå(â�ÜdÛqú8åVÕ°Þ8Ý5Ü|ûZÛmç|Ö8Ý5Üdã)Ö�Þ5ã©æDÕ°ÛVå�Þ5Ö5Ó­âTÜdÛPã
êyò'Ý]ÓáåPÚPÛPÓyæ5Þ5ÚVÕnÝ
ÓyÖ

[0, 1[
ì

ü¤Ö�ÚPà5ÓáåißnÜdÖJÚVÕaýuÚqÓyÚõÓáåõåPúDÕnß°Ó­þÐßjç|êyêyòøÓyã
úDÜdÛPÚmç|Ö�ÚqÚVÜsÿuÖ8Üjë Þ5Ö8Ý5Õ°Ûqëqà5ÓáßVà ßnÜdÖ8Ý]ÓyÚPÓáÜdÖ8å(åmÕnè�Þ8Õ°Ö8ßnÕnå
Ý5Õaþ8Ö8ÕnÝ
æ�ò�ÛVÕnß°Þ5ÛPÛVÕ°Ö8ßnÕnåpç|ÛVÕ&Þ=ì8Ý6ì]ãbÜuÝ

m
× �dÙXì

� Ý5ÕnßjçdÝ5Õ ç�â\ÚVÕ°ÛbÒ�ÓyÔ#Õ°Ö��±å úÐç|úDÕ°Ûj÷��&Þ5Óyú¸Õ°ÛVåbç|Ö8ÝFöJà5ÓyÞ8Õ�×���Ùqú5ÛVÜjÔ#ÕnÝ�ÚPàÐç|Ú
ÚPà8Õ�åmÕnè�Þ8Õ°Ö8ßnÕ
L = (Ln)n=0,1,...

Ü|â í6Þ8ßjçdå(ÖJÞ5ã©æDÕ°ÛVåj÷ÐÝ5Õaþ8Ö8ÕnÝ'æJò
ñ
	Bô L0 := 2, L1 := 1, Ln+2 := Ln+1 + Ln (n ≥ 0),

Óáå Ö8ÜdÚ Þ=ì Ý6ì�ãbÜJÝ
m
âTÜdÛ
ç|Ö�ò�ÓyÖ�ÚVÕ°é#Õ°Û

m ≥ 2
ì%ü¤Ö ÚPà8Õ�ßjçdåmÕ'Ü|âÁÚPà8Õ���Óyæ¸ÜdÖÐçdßnß°ÓqåVÕnèJÞ8Õ°Ö8ßnÕ

F = (Fn)n=0,1,...
÷8Ý5Õaþ8Ö8ÕnÝ'æ�ò

ñ�
#ô F0 := 0, F1 := 1, Fn+2 := Fn+1 + Fn (n ≥ 0),

	



ßnÜdãNæ5ÓyÖÐç|ÚPÓáÜdÖ�Ü|â¡ëiÜdÛPÿKÝ5ÜdÖ8Õ æ�ò��&Þ5Óyú¸Õ°ÛVå¯ç|Ö8Ý+öJà5ÓyÞ8Õ'×��BÙªç|Ö8Ý æ�ò ÒÁÓáÕnÝ5Õ°ÛPÛVÕ°ÓyÚVÕ°Ûø×���Ù Óyã
ú5êyÓáÕnÝ
ÚPàÐç|Ú F Óáå,Þ=ì6Ý6ì=ãbÜJÝ

m
Ó­â(ç|Ö8Ý+ÜdÖ5êyò Ó­â

m = 5k, k ∈ N := {1, 2, ...} ì � Ö�ÓyÖ8Ý5Õ°úDÕ°Ö8Ý5Õ°Ö�Úú5ÛVÜuÜ|â%Ü|â%ÚPà5ÓáåqâZçdß°Ú(ßjç|Ö æDÕpâTÜdÞ5Ö8Ý�ÓyÖ�× 	 ÙXì
� êyãbÜRåPÚqç|Ú¡ÚPà8Õpåmç|ãbÕÁÚPÓyãbÕÁëqà8Õ°Ö'Ò�ÓyÔ#Õ°Ö��±åiç|ÛPÚPÓáß°êáÕ ×�Ø�Ù=ç|ú5ú¸Õjç|ÛVÕnÝ6÷���ç|êyê�× 	�
 Ùvú5ÛVÜjÔ#ÕnÝ�ÚPàÐç|ÚåVÕnßnÜdÖ8ÝuûXÜdÛVÝ5Õ°Û,êyÓyÖ8Õjç|Û&ÛVÕnß°Þ5ÛPÛVÕ°Ö8ßnÕnå A Ü|âªÚ¤òJúDÕ

an+2 = an+1 + an (n ≥ 0)
ëqÓyÚPà+ç|ÛPæ5ÓyÚPÛmç|ÛPò

ÓyÖJÚVÕ°é#Õ°ÛbÓyÖ5ÓyÚPÓïç|êqÔdç|êyÞ8Õnå
a0, a1

ç|ÛVÕ'åPÓyã
ú5êyò�ú¸Õ°ÛPÓáÜuÝ]Óáß�Ó­â�ÛVÕnÝ]Þ8ßnÕnÝ ãbÜuÝ]Þ5êáÜ+ç|Ö�ò
m ∈ N

ì��pÕ
Õaý]ú5êyÓáß°ÓyÚPêyòøÝ5Õ°ÚVÕ°ÛPã
ÓyÖ8ÕnÝ�ÚPà8ÕÁúDÕ°ÛPÓáÜuÝbêáÕ°Ö5éRÚPà

hA(m)
Ü|â A ãbÜuÝ m

ÓyÖøÚVÕ°ÛPãbåõÜ|â
a0, a1

ç|Ö8Ý
m
ì

ü¤Ö'úÐç|ÛPÚPÓáß°Þ5êïç|Ûj÷8à5Óáå��õà8ÕnÜdÛVÕ°ãbå��
ç|Ö8Ý
ØsÓyã
ú5êyò
hF (2k) = hL(2k) = 3 · 2k−1; hF (5k) = 4 · 5k, hL(5k) = 4 · 5k−1

â�ÜdÛ&ç|ÖJò
k ∈ N

ì��¡êáÕjç|ÛPêyò#÷¸Ó­âªåPÞ8ßVà�çøåVú¸Õnß°Óïç|ê@êyÓyÖ8Õjç|ÛpÛVÕnß°Þ5ÛPÛPÓyÖ5é'åVÕnèJÞ8Õ°Ö8ßnÕ A ÓáåÁÞ=ìvÝ6ìÐãbÜuÝ]Þ5êáÜ
åVÜdãbÕ

m ∈ N
÷8ÚPà8Õ°Ö

m
Ý]ÓyÔuÓáÝ5Õnå

hA(m)
ì��pÕ°Ö8ßnÕ¯ëiÕ©åVÕnÕ ñ ëqàÐç|Ú�ë¡Õsç|êyÛVÕjçdÝ]ò'ÿJÖ8ÜBë"âTÛVÜdã�ÚPà8Õç|æDÜjÔ#Õ,èJÞ8ÜdÚmç|ÚPÓáÜdÖ ô ÚPàÐç|ÚqÚPà8Õ��@ÓyæDÜdÖÐçdßnß°Ó=åVÕnèJÞ8Õ°Ö8ßnÕpÓáåõÖ8ÜdÚiÞ=ì]Ý6ìuãbÜuÝ 2k ëqà8Õ°ÛVÕjçdåqÚPà8Õ&í6Þ8ßjçdååVÕnèJÞ8Õ°Ö8ßnÕ�Óáå Ö8Õ°ÓyÚPà8Õ°ÛbÞ=ì%Ý6ì%ãbÜuÝ

2k Ö8ÜdÛ
ãbÜuÝ 5k ì ��Ö:ÚPà8Õ'ÜdÚPà8Õ°Û
àÐç|Ö8Ý6÷ ßnÜdã©æ5ÓyÖÐç|ÚPÓáÜdÖ Ü|â��ç|êyê!�±å(âTÜdÛPãNÞ5êïç
hF (5k) = 4 · 5k ëqÓyÚPàKÒ�ÓáÕnÝ5Õ°ÛPÛVÕ°ÓyÚVÕ°Û��±å(ÛVÕnåPÞ5êyÚ�ÜdÖ ÚPà8Õ,Þ5Ö5Ó­â�ÜdÛPã Ý]ÓáåPÚPÛPÓyæ5Þ5ÚPÓáÜdÖÜ|â F ãbÜuÝ 5k ãbÕjç|Ö8å ÚPàÐç|ÚªÕ°Ô#Õ°ÛPò b ∈ {0, ..., 5k −1} ç|ú5ú¸Õjç|ÛVå Õaý8çdß°ÚPêyòNâTÜdÞ5Û ÚPÓyãbÕnåiçdå%ÛVÕnåPÓáÝ]Þ8ÕãbÜuÝ

5k ÓyÖ�ÚPà8Õ úDÕ°ÛPÓáÜJÝ_Ü|â F ãbÜuÝ
5k ì#"¡Þ5Ú&ÓyÖ�ÚPà8Õ
ßjçdåVÕ
Ü|âiãbÜJÝ]Þ5êyÓ m

ÚPàÐç|Ú©ç|ÛVÕ Ö8ÜdÚ,ú5Þ5ÛVÕ
úDÜjëiÕ°ÛVåbÜ|â$�]÷@ÚPà8Õ�Ý]ÓáåVÚPÛPÓyæ5Þ5ÚPÓáÜdÖ�Ü|âÁÚPà8Õ�ÛVÕnåPÓáÝ]Þ8Õnå ãbÜJÝ

m
ÓyÖ�çKúDÕ°ÛPÓáÜJÝ�Ü|â F ãbÜJÝ

m
ëõçdå

ÛVÕ°êïç|ÚPÓyÔ#Õ°êyò'Þ5Ö8Õaý]ú5êáÜdÛVÕnÝ'Þ5Ö�ÚPÓyê@ÚPà8Õ,Õjç|ÛPêyò 	 ØRØ&%dåjì
� Ú�ÚPàÐç|Ú=ÚPÓyãbÕR÷�'�çdßnÜdæ8åVÜdÖ�×�(�ÙJÕaýuú5êyÓáß°ÓyÚPêyò&Ý5ÕnåVß°ÛPÓyæDÕnÝ,ÚPà8Õ%âTÞ5Ö8ß°ÚPÓáÜdÖ

vF (2k, b), b∈{0, ..., 2k−
1}, â�ÜdÛ(Õ°Ô#Õ°ÛPò k ∈ N

ì)��Õ°ÛVÕ
vA(m, b) := #{n | 0 ≤ n < hA(m), an ≡ b (mod m)}

Ý5Õ°Ö8ÜdÚVÕnå ÚPà8ÕõÖJÞ5ã©æDÕ°ÛªÜ|â¸Üußnß°Þ5ÛPÛVÕ°Ö8ßnÕnå Ü|âDÚPà8ÕiÛVÕnåPÓáÝ]Þ8Õ
b
ãbÜuÝ

m
ÓyÖ
ÚPà8Õ¡úDÕ°ÛPÓáÜuÝ
Ü|âDç�ÛVÕnß°Þ5ÛPÛPÓyÖ5é

åVÕnèJÞ8Õ°Ö8ßnÕ A çdåqç|æDÜjÔ#ÕRì)'�çdßnÜdæ8åVÜdÖ�ÛVÕ°ãøç|ÛPÿ#ÕnÝ�ÓyÖ�à5ÓáåªÓyÖJÚPÛVÜJÝ]Þ8ß°ÚPÓáÜdÖ+*,� àÐç|Ú¡ãøç|ÿ#ÕnåiÚPà5Óáå&×±ßnÜdã ûú5êáÕ°ÚVÕ Ý5ÕnåVß°ÛPÓyú5ÚPÓáÜdÖ�Ü|â
vF (2k, .)

Ù úDÜRåVåPÓyæ5êáÕ©Óáå&çøÚXòuúDÕNÜ|âªåPÚmç|æ5ÓyêyÓyÚ¤ò
ÚPàÐç|Ú&ÜJßnß°Þ5ÛVåpëqà8Õ°Ö
k ≥ 5

ì
�õà5Óáå¯åVÚmç|æ5ÓyêyÓyÚXò�Ý5ÜJÕnå¯Ö8ÜdÚ¯åVÕnÕ°ã ÚVÜ
ç|ú5úDÕjç|Û&âTÜdÛ,ú5ÛPÓyãbÕnå¯ÜdÚPà8Õ°Û©ÚPàÐç|Ö 
 ç|Ö8Ý-�]ì.���õà8Õ ú5ÛVÕnß°ÓáåVÕÝ5Õaþ8Ö5ÓyÚPÓáÜdÖ Ü|â%åPÚmç|æ5ÓyêyÓyÚ¤ò#÷8Ö8ÜdÚqò#Õ°Úqâ�ÜdÛPãøç|êyêyò�éRÓyÔ#Õ°Ö ÓyÖ+×�(|ÙX÷5Ý5Õ°úDÕ°Ö8Ý5å(ÜdÖ ÚPà8Õ¯åmÕ°Ú
ñ ( ô ΩA(m) := {vA(m, b) | b∈{0, ...,m − 1}}
â�ÜdÛ�ç|êyê(âTÛVÕnèJÞ8Õ°Ö8ß°ÓáÕnåøÜ|â,ÛVÕnåPÓáÝ]Þ8ÕnåbãbÜuÝ

m
ÓyÖ ç â\Þ5êyêÁú¸Õ°ÛPÓáÜuÝ�Ü|â A ãbÜJÝ

m
ì � ßnßnÜdÛVÝ]ÓyÖ5é�ÚVÜ

�õç|ÛPêyÓyú+ç|Ö8Ý/'�çdßnÜdæ8åVÜdÖ�× 
 ÙX÷DçøåmÕnè�Þ8Õ°Ö8ßnÕ A Óáå&åmç|ÓáÝKÚVÜøæDÕbk°WZU�ðaxáM ãbÜuÝ]Þ5êáÜ'çbú5ÛPÓyãbÕ
p
Ó­âªÚPà8Õaû

ÛVÕøÓáåNç
k0 ∈ N

åPÞ8ßVà�ÚPàÐç|Ú
ΩA(pk) = ΩA(pk0)

à8ÜdêáÝ5å¯â�ÜdÛsç|êyê¡ÓyÖ�ÚVÕ°é#Õ°ÛVå
k ≥ k0

ì�ü¤Ö�ÚPà8ÕnåVÕ
ÚVÕ°ÛPãbåj÷@ë¡Õ�Ö8ÜdÚVÕ

ΩF (2k) = {0, 1, 2, 3, 8} âTÜdÛsÕ°Ô#Õ°ÛPò k ≥ 5
çdåsçKßnÜdÖ8åVÕnèJÞ8Õ°Ö8ßnÕ�Ü|â0'�çdßnÜdæ]û

åVÜdÖ��±åpãøç|ÓyÖ�ÛVÕnåPÞ5êyÚ&ÓyÖ ×�(|ÙX÷vëqà8Õ°Ö8ßnÕ ÚPà8Õ1��ÓyæDÜdÖÐçdßnß°Ó åVÕnè�Þ8Õ°Ö8ßnÕ F ÓáåpåVÚmç|æ5êáÕNãbÜuÝ]Þ5êáÜ 
 ìDÒ�ÜdÚVÕç|êáåVÜ
ΩF (5k) = {4} â�ÜdÛ�Õ°Ô#Õ°ÛPò k ∈ N

÷Ðç|Ö8Ý6÷vãbÜdÛVÕ©é#Õ°Ö8Õ°Ûmç|êyêyò#÷
ΩA(m)

ßnÜdÖ8åPÓáåPÚVå�Ü|â#2�Þ8åVÚÁÜdÖ8Õ
Õ°êáÕ°ãbÕ°ÖJÚ
Ó­âpç|Ö8Ý�ÜdÖ5êyò�Ó­â A Óáå©Þ=ì%Ý6ì@ãbÜJÝ

m
ì��õà�Þ8åj÷%ÜdÖ8Õ�ßnÜdÞ5êáÝ åmçnò+ÚPàÐç|ÚsÚPà8Õ�ßnÜdÖ8ßnÕ°ú5Ú
Ü|â

åPÚmç|æ5ÓyêyÓyÚ¤ò�ëiçdå(ÓyÖJÚPÛVÜJÝ]Þ8ßnÕnÝ
ÚVÜ
é#Õ°Ö8Õ°Ûmç|êyÓ.3jÕ,Þ5Ö5Ó­â�ÜdÛPã Ý]ÓáåPÚPÛPÓyæ5Þ5ÚPÓáÜdÖKãbÜJÝ]Þ5êáÜ
ú5ÛPÓyãbÕ¯ú¸ÜBë¡Õ°ÛVåjì






öJÓyÖ8ßnÕøßnÜdã
ú5Þ5Úmç|ÚPÓáÜdÖ�Ü|â¡ÚPà8Õ ÛVÕnåPÓáÝ]Þ8Õ
Ý]ÓáåVÚPÛPÓyæ5Þ5ÚPÓáÜdÖ�Ü|âõç�åPÚmç|æ5êáÕ
åVÕnèJÞ8Õ°Ö8ßnÕ ÛVÕnèJÞ5ÓyÛVÕnå¯ÜdÖ5êyò
çNþ8Ö5ÓyÚVÕ,ßnÜdã
ú5Þ5Úmç|ÚPÓáÜdÖÐç|ê=ú5ÛVÜußnÕnÝ]Þ5ÛVÕR÷8åPÚmç|æ5ÓyêyÓyÚ¤ò�æDÕnßjç|ãbÕ,ç|Ö'Óyã
ú¸ÜdÛPÚmç|ÖJÚ(ÚVÜuÜdê¸ÓyÖ�ÚPà8Õ,åPÚPÞ8Ý]ò�Ü|â
âTÛVÕnè�Þ8Õ°Ö8ß°òNÝ]ÓáåPÚPÛPÓyæ5Þ5ÚPÓáÜdÖ=ì&�õà�Þ8åj÷dÝ]Þ5ÛPÓyÖ5é&ÚPà8ÕiêïçdåPÚ%Ý5ÕnßjçdÝ5ÕR÷dÚPà8Õ°ÛVÕõç|ú5úDÕjç|ÛVÕnÝ
çÁåmÕ°ÛPÓáÕnå�Ü|âvúÐç|ú¸Õ°ÛVå
ÜdÖ_åPÚmç|æ5ÓyêyÓyÚXòKãbÜJÝ 
 Ü|â¡åVÕnßnÜdÖ8ÝuûXÜdÛVÝ5Õ°Û&êyÓyÖ8Õjç|Û&ÛVÕnß°Þ5ÛPÛVÕ°Ö8ßnÕnå A Ü|â ÚPà8ÕNåPêyÓyéRàJÚPêyò
ãbÜdÛVÕsé#Õ°Ö8Õ°Ûmç|ê
Ú¤òJúDÕ�ÚPàÐç|Ö/ç|æDÜjÔ#ÕR÷ ÖÐç|ãbÕ°êyò

an+2 = Aan+1 + Ban (n ≥ 0)
Þ5Ö8Ý5Õ°ÛøÔdç|ÛPÓáÜdÞ8åbßnÜdÖ8Ý]ÓyÚPÓáÜdÖ8å

ÜdÖ�ÚPà8ÕøÓyÖJÚVÕ°é#Õ°ÛVå
A,B

æ5Þ5ÚsÓyÖ�ÚPà8Õ�Þ5ú5úDÕ°ÛPãbÜRåPÚsÖ�Þ5ãNæ¸Õ°ÛbÜ|âÁßjçdåVÕnåsëqÓyÚPà�ÓyÖ5ÓyÚPÓïç|êqßnÜdÖ8Ý]ÓyÚPÓáÜdÖ8å
a0 = 0, a1 = 1

ì���ÚPà8Õ°Û,ç|ÛPÚPÓáß°êáÕnå,Õaý5ç|ã
ÓyÖ8ÕnÝ_åPÚmç|æ5ÓyêyÓyÚ¤ò
ãbÜuÝ]Þ5êáÜ�ÜuÝ5Ý
ú5ÛPÓyãbÕnå
p
ì54(ì é8ìy÷=öuÜdãbÕ°Û

ç|Ö8Ý+�õç|ÛPêyÓyú�× 	&	 Ù Õaý]à5Óyæ5ÓyÚVÕnÝKåVÕ°Ô#Õ°Ûmç|ê�ß°êïçdåVåVÕnåpÜ|âªåVÕnßnÜdÖ8ÝuûXÜdÛVÝ5Õ°Û&êyÓyÖ8Õjç|Û�ÛVÕnß°Þ5ÛPÛVÕ°Ö8ßnÕnå�âZç|ÓyêyÓyÖ5é�ÚVÜæDÕ
p
ûXåPÚmç|æ5êáÕ©ç|Ö8Ý'ú5ÛVÜBÔJÓáÝ5ÕnÝ
åPÞ)6øß°ÓáÕ°Ö�Úpß°ÛPÓyÚVÕ°ÛPÓïçsâTÜdÛ�åPÞ8ßVà'ÛVÕnß°Þ5ÛPÛVÕ°Ö8ßnÕnå�ÚVÜ
æDÕ

p
ûXåPÚmç|æ5êáÕRì

�õà8Õ+ç|Óyã.Ü|âsÚPà8ÕKú5ÛVÕnåmÕ°Ö�Ú úÐç|úDÕ°Û�Óáå�ÚVÜ�Ý5Õnåmß°ÛPÓyæ¸Õ_ßnÜdã
ú5êáÕ°ÚVÕ°êyò ÚPà8Õ â\Þ5Ö8ß°ÚPÓáÜdÖ
vL(pk, .)â�ÜdÛ

p = 2
ç|Ö8Ý

p = 5
ì7�+Õ�æDÕ°éRÓyÖ ëqÓyÚPà:ÚPà8Õ'ßjçdåVÕ

p = 5
÷%ëqà5ÓáßVà=÷ªçdßnßnÜdÛVÝ]ÓyÖ5é�ÚVÜ_é#Õ°Ö8Õ°Ûmç|ê

ú5à5ÓyêáÜRåVÜdú5àJò#÷@åVà8ÜdÞ5êáÝ+æDÕ
ÚPà8Õ8*�åPÓyã
ú5êáÕ°Û���ÜdÖ8ÕR÷7�'æ¸Õ°ÓyÖ5é_ç'Ý]ÓyÔJÓáåmÜdÛNÜ|â ñ ÓyÖ�âZçdß°Új÷�ÕnèJÞÐç|êªÚVÜ ô ÚPà8ÕÝ]ÓáåVß°ÛPÓyã
ÓyÖÐç|ÖJÚpÜ|â%ÚPà8Õ,ßnÜdã
úÐç|Ö5ÓáÜdÖ
úDÜdêyòuÖ8Üdã
Óïç|ê
X2 − X − 1

Ü|â�ÚPà8Õ¯ÛVÕnß°Þ5ÛPÛVÕ°Ö8ßnÕ¯ÓyÖ ñ
	Bô ì
9;:�<#= >?<�@ A�B�C rEDFD]YdknM W\[uURW

k ∈ N G;H []MatJI fnYdcKMLKdMacle b
facPYd`$W\[]M
xáMPU|k°WNt¸Ydt8t¸M�M�URWTQNKdM

cVMlklQ�Odr8M©kle|kaWXM°`
mod5k IªYdtDM,[]U|k

ñ � ô vL(5k, b)=















5[(k−1)/2],
Q f

b ≡ L5[k/2]j (mod 5k), j ∈ {0, 1, 2, 3},
2 · 5`,

Q f
b ≡ L2·5`j+5k−`−1i, i ∈ {0, 1}, 0 ≤j<5k−2`−1, 56 | jfnYdc&k°Yd`øM

`∈{0, ..., [k
2 ] − 1},

0 otherwise.

O <5@QPR>?STA�B�U êïç|ÓyÖ5êyò#÷JÚPà8ÕÁåmÕnßnÜdÖ8ÝuûZãbÕ°Ö�ÚPÓáÜdÖ8ÕnÝ�ßjçdåVÕ(ÓyÖ ñ � ô Üußnß°Þ5ÛVå¡ÜdÖ5êyò Ó­â k ≥ 2
ì�ü¤Ú Óáåõç|êáåVÜ

Õ°ÔuÓáÝ5Õ°Ö�ÚqÚPàÐç|Új÷]ÓyÖ�ÚPà5ÓáåqßjçdåVÕR÷]Õaý8çdß°ÚPêyò
8 · 5k−2`−2 ãbÜuÝ 5k úÐç|ÓyÛPëqÓáåVÕpÓyÖ8ßnÜdÖ5éRÛPÞ8Õ°ÖJÚ b

�±åõç|ú5úDÕjç|Û
ÜdÖ ÚPà8Õ&ÛPÓyéRàJÚgûZàÐç|Ö8ÝKåVÓáÝ5Õ,Ü|â ñ � ô ì
O <5@QPR>?SWV�B � åPÓyã
ú5êáÕ¯ßjç|êáß°Þ5êïç|ÚPÓáÜdÖ_åPà8Üjë(åÁÚPàÐç|Új÷5â�ÜdÛ(éRÓyÔ#Õ°Ö

k ∈ N
÷]ÚPà8Õ¯ÚPà5ÓyÛVÝ ßjçdåVÕ¯ÓyÖ ñ � ôà8ÜdêáÝ5åÁâTÜdÛpÕaý5çdß°ÚPêyò 1

3 (2 · 5k − 9 − 2 · (−1)k) > 0
ÔRç|êyÞ8ÕnåpÜ|â

b
ìX��Õ°Ö8ßnÕsçdåPòuã
ú5ÚVÜdÚPÓáßjç|êyêyò ÚXëiÜ

ÚPà5ÓyÛVÝ Ü|â%ÚPà8Õ
b
�±å(Ý5Ü Ö8ÜdÚÁÜußnß°Þ5Û�çdåÁçsÛVÕnåPÓáÝ]Þ8Õ¯ãbÜJÝ

5k Ü|â ç|Ö�ò Ln
ì

"iò�ÚPà5Óáå(êïçdåPÚ(Üdæ8åmÕ°ÛPÔdç|ÚPÓáÜdÖKç|Ö8Ý
Ý5Õaþ8Ö5ÓyÚPÓáÜdÖ ñ ( ô ÷]ë¡Õ¯Óyã
ãbÕnÝ]Óïç|ÚVÕ°êyò Üdæ5Úmç|ÓyÖ

ΩL(5k) = {0, 2, 2 · 5, ..., 2 · 5[k/2]−1, 5[(k−1)/2]}
Ó­â

k ≥ 2
÷8ç|Ö8Ý

ΩL(5) = {0, 1} ì��õà5Óáå(àÐçdå(ÚPà8Õ&âTÜdêyêáÜBëqÓyÖ5éøßnÜdÖ8åVÕnèJÞ8Õ°Ö8ßnÕRì
Y =?>Z=?[J[JP\>X]WA�B H []M�^%r5SVU|k,kjM`_°r8MatvSmM Qïk,tvYRW kaWZU�ð°xyMN`bYjOdruxyYa�]ì
ÒpÕaý]Úqë¡Õ¯ßnÜdãbÕ,ÚVÜbÚPà8Õ,ú¸ÜBë¡Õ°ÛVå�Ü|â 
 ì

(



9;:�<#= >?<�@ V�B�C rEDFD]YdknM
k ∈ N, k ≥ 3 GaH []MatJIªfnYdcKMLKdMacle b

Q\t W\[]MKxyMVU|kaWstvYdtÐt¸M�M#URWTQbK|M
cVMlklQ�Odr8M©kle|kaWXM°`

mod2k IªYdtDM,[]U|k

ñ � ô vL(2k, b)=















































1,
Q f

b ≡ 1 (mod 4),
3,

Q f
b ≡ 3 (mod 4),

2,
Q f

b ≡ 4 (mod 8),

2[k/2],
Q f

b = 2,

2[k/2],
Q f

b = 22[(k−1)/2] + 2
Udt¸O

k ≥ 5,
16,

Q f
b ≡ 18 (mod 128)

URtvO
k ≥ 7,

2`,
Q f

b ≡ 5·22`−4+2 (mod 22`−1)
fnYdc,knYd`øM

`∈{5, ..., [k+1
2 ]},

0 otherwise.

O <5@QPR>?Sdc�B �+ÕsÝ5Ü�Ö8ÜdÚpÓyÖ8ß°êyÞ8Ý5Õ à8Õ°ÛVÕNÚPà8ÕNÔRç|êyÞ8Õnå&Ü|â
vL(2, b)

ç|Ö8Ý
vL(4, b)

â�ÜdÛ
b = 0, 1ç|Ö8Ý

b = 0, 1, 2, 3
÷DÛVÕnåVú¸Õnß°ÚPÓyÔ#Õ°êyò#ì��¡êáÕjç|ÛPêyò#÷¸ÚPà8ÕNßjçdåmÕ©ßnÜjÔ#Õ°ÛVÕnÝ æJò êyÓyÖ8Õe�øÜ|â â�ÜdÛPã©Þ5êïç ñ � ô ßjç|ÖÜußnß°Þ5ÛÁÜdÖ5êyò�Ó­â

k ≥ 9
ì

O <5@QPR>?Sgf�B öJÓyÖ8ßnÕ&ÚPà8ÕpÔdç|êyÞ8ÕnåõÜ|â L ãbÜuÝh�såPÚmç|ÛPÚõëqÓyÚPà 
 ÷ 	 ÷�(]÷�%]÷�(]÷�(
ç|Ö8Ý�ÚPà8Õ°Ö�ÛVÕ°ú¸Õjç|Új÷]ÜdÖ8ÕàÐçdåqÚPà8Õ,âTÜdêyêáÜBëqÓyÖ5é�ÕnèJÞ5ÓyÔdç|êáÕ°Ö8ßnÕnå
Ln ≡ 1 (mod 4) ⇔ n ≡ 1 (mod 6),
Ln ≡ 3 (mod 4) ⇔ n ≡ −1,±2 (mod 6),
Ln ≡ 4 (mod 8) ⇔ n ≡ 3 (mod 6),
Ln ≡ 2 (mod 16) ⇔ n ≡ 0 (mod 6),

ÚPà8ÕqÚPà5ÓyÛVÝ�ç|Ö8Ý âTÜdÞ5ÛPÚPà�ÜdÖ8Õqæ¸Õ°ÓyÖ5é©ÚPÛPÞ8Õqæ�ò
ÜdÞ5Ûªí=Õ°ã
ãøçi�8÷ ñ ÓyÓ ô ç|Ö8Ý ñ ÓyÓyÓ ô ÷RÛVÕnåVú¸Õnß°ÚPÓyÔ#Õ°êyò#ì��õà�Þ8åj÷ÚPà8Õ¯þ8ÛVåPÚ(ÚPà5ÛVÕnÕ,êyÓyÖ8ÕnåpÜdÖ ÚPà8Õ,ÛPÓyéRàJÚgûZàÐç|Ö8ÝKåPÓáÝ5Õ©Ü|â ñ � ô ÛVÕaâTÕ°ÛpÕaý5çdß°ÚPêyò�ÚVÜ
ÚPà8Õ n 6≡ 0 (mod 6)
÷

ëqà8Õ°ÛVÕjçdåøÚPà8Õ�êyÓyÖ8Õnåe��ÚVÜj�
Ý5Õjç|êqëqÓyÚPàFÚPà8Õ
n ∈ {0, ..., 3 · 2k−1 − 1} Ý]ÓyÔuÓáåPÓyæ5êáÕ�æ�òk�]ì ��ÖÚPà8Õ�ÜdÚPà8Õ°ÛsàÐç|Ö8Ý6÷@êáÜuÜdÿuÓyÖ5é_ç|Ú ÚPà8Õ

b
�±å ÜdÖ�ÚPà8Õ�ÛPÓyéRàJÚgûZàÐç|Ö8Ý:åPÓáÝ5Õ�Ü|â ñ � ô ÷�ëiÕ�Ö8ÜdÚPÓáßnÕ�ÚPàÐç|Ú ÓyÖêyÓyÖ8Õ1�bÜußnß°Þ5Ûpç|êyê

b
÷5ëqà5Óáßmà_ç|ÛVÕNßnÜdÖ5éRÛPÞ8Õ°Ö�Ú&ÚVÜl%
ÜdÛ��
ãbÜuÝm�]÷vç|êyê@ÚPàÐç|Úpç|ÛVÕNßnÜdÖ5éRÛPÞ8Õ°Ö�Ú&ÚVÜ 	 %ãbÜuÝ 	 �]÷uç|Ö8Ý�Õaý8çdß°ÚPêyòøÚPà8ÜRåVÕ&ßnÜdÖ5éRÛPÞ8Õ°Ö�ÚqÚVÜ 
 ãbÜJÝ 	 �©Ö8ÜdÚqÜJßnß°Þ5ÛPÛPÓyÖ5é ÓyÖ�êyÓyÖ8Õnån�NÚPà5ÛVÜdÞ5éRào�uìp ÜdÛVÕnÜjÔ#Õ°Ûj÷Dç|ÖKÕjçdåPò'ßjç|êáß°Þ5êïç|ÚPÓáÜdÖ_åPà8Üjë(å�ÚPàÐç|Új÷ÐâTÜdÛ�ç|ÖJò

k ≥ 9
÷ÐÚPà8Õ©ßjçdåVÕ©ÓyÖ
êyÓyÖ8Õ1� à8ÜdêáÝ5å(â�ÜdÛ

Õaý8çdß°ÚPêyò 1
6 (143 · 2k−6 − 15 + (−1)k) > 0

ÔRç|êyÞ8ÕnåqÜ|â
b
ì)��Õ°Ö8ßnÕ¯çdåPòuã
ú5ÚVÜdÚPÓáßjç|êyêyò'ç|æ¸ÜdÞ5Ú�(F�rq

Ü|â%ÚPà8Õ
b
�±å(Ý5Ü Ö8ÜdÚÁÜußnß°Þ5Û�çdåqÛVÕnåPÓáÝ]Þ8ÕnåqãbÜuÝ

2k Ü|â ç|Ö�ò Ln
ì

"iò�ÚPà5Óáå(êïçdåPÚ(åVÚmç|ÚVÕ°ãbÕ°Ö�Úpç|Ö8Ý'Ý5Õaþ8Ö5ÓyÚPÓáÜdÖ ñ ( ô ÷5ë¡Õ©Üdæ5Úmç|ÓyÖ
ΩL(2k) = {0, 1, 2, 3, 24 , 25, ..., 2[(k+1)/2]}

â�ÜdÛõç|ÖJò
k ≥ 9

ì)�¡êáÕjç|ÛPêyò#÷uÚPà8ÕpåVÕ°ÚVå
ΩL(2k)

ßjç|Ö�æDÕ(ëqÛPÓyÚPÚVÕ°Ö'Ý5ÜBëqÖ�â�ÜdÛ
k = 1, ..., 8

÷]ÚVÜuÜ5ì��õà5Óáå
àÐçdåqÚPà8Õ,âTÜdêyêáÜBëqÓyÖ5é�ßnÜdÖ8åVÕnèJÞ8Õ°Ö8ßnÕRì
Y =?>Z=?[J[JP\>X]TV�B H []M�^%r5SVU|k,kjM`_°r8MatvSmM Qïk,tvYRW kaWZU�ð°xyMN`bYjOdruxyY 
 ì

�



�ÁâißnÜdÞ5ÛVåVÕR÷¸ÓyÚpëiÜdÞ5êáÝ_æ¸ÕNÓyÖ�ÚVÕ°ÛVÕnåVÚPÓyÖ5é'ÚVÜ�Ý5Õ°ÚVÕ°ÛPã
ÓyÖ8ÕR÷6ÕRì é8ìy÷¸ÚPà8ÕNâ\Þ5Ö8ß°ÚPÓáÜdÖ
vL(3k, .)

åPÓyã
Ó­û
êïç|ÛPêyò�ÚVÜ�ÜdÞ5Ûe�õà8ÕnÜdÛVÕ°ãbå 	 ç|Ö8Ý 
 ì ��Þ5ÛbÜBëqÖ�ÕaýuúDÕ°ÛPÓáÕ°Ö8ßnÕ�ëqÓyÚPà:ÚPà5Óáå ú5ÛVÜdæ5êáÕ°ã Óáå Ö8ÜdÚ$2�Þ8åPÚ
Õ°Ö8ßnÜdÞ5Ûmç|éRÓyÖ5é8ìqü¤Ö/ÚPà5Óáå�ßnÜdÖ�ÚVÕaý]Új÷iÚPà8Õ ÛVÕjçdÝ5Õ°Û�ãøçjò/ßnÜdã
úÐç|ÛVÕ ÚPà8Õ
Ô#Õ°ÛPòFúÐç|ÛPÚPÓïç|êpÛVÕnåVÞ5êyÚVå�ÜdÖ
vF (3k, .)

ÓyÖ�× 	 %�ÙXì

- Ã ��Ç7s/Î ÑZÎXsts Ì6Ï�Ç�ÄÍ�,Ë!uqÇ@Ä Ì6Ê5Ê5ËpÌDÄ¡È �ÁÉ¡Ê]Ì6Ï
Ä%É?skuqÎÐÆ�Ï
í=Õ°Ú

α := 1
2(1 +

√
5), β := 1

2(1 −
√

5)
Ý5Õ°Ö8ÜdÚVÕ�ÚPà8Õ�ÛVÜJÜdÚVå
Ü|âpÚPà8Õ'ßnÜdã
ãbÜdÖFßnÜdã
úÐç|Ö5ÓáÜdÖ

úDÜdêyòJÖ8Üdã
Óïç|ê
X2−X−1

Ü|â¸ÚPà8Õv��Óyæ¸ÜdÖÐçdßnß°ÓÐç|Ö8Ý
í6Þ8ßjçdåªÛVÕnß°Þ5ÛPÛVÕ°Ö8ßnÕRìF�pÕ°Ö8ßnÕõë¡ÕqàÐçjÔ#Õ
αn+2 =

αn+1 + αn â�ÜdÛÁÕ°Ô#Õ°ÛPò n ∈ Z
ç|Ö8Ý
ÚPà8Õ¯åmç|ãbÕ¯ÕnèJÞÐç|ÚPÓáÜdÖ
ëqÓyÚPà

β
ÓyÖ8åPÚVÕjçdÝKÜ|â

α
ì�w&Õaþ8Ö5ÓyÖ5é8÷5â�ÜdÛ

Õjçdßmà
n ∈ Z

÷

ñ � ô Φn :=
αn − βn

α − β
, Λn := αn + βn,

ÚPà8Õ°Ö ÚPà8Õ
Φ
�±å(ç|Ö8Ý

Λ
�±åÁåmç|ÚPÓáågâTò�ÚPà8Õ&ÛVÕnß°Þ5ÛPÛVÕ°Ö8ßnÕnå

Φn+2 = Φn+1 + Φn, Λn+2 = Λn+1 + Λn

ç|Ö8ÝsÚPà8ÕõÓyÖ5ÓyÚPÓïç|ê5ßnÜdÖ8Ý]ÓyÚPÓáÜdÖ8å
Φ0 = 0, Φ1 = 1

ç|Ö8Ý
Λ0 = 2, Λ1 = 1

÷|ÛVÕnåPúDÕnß°ÚPÓyÔ#Õ°êyò#ì&x�åPÓyÖ5é ñ � ôç|Ö8Ý
αβ = −1

ëiÕpÕjçdåVÓyêyò þ8Ö8Ý
Φ−n = (−1)n+1Φn,Λ−n = (−1)nΛn

âTÜdÛqç|Ö�ò
n ∈ Z

ì)�iÜdã û
úÐç|ÛPÓyÖ5ébÚPà5Óáå(êïçdåPÚiâ�çdß°ÚqëqÓyÚPà'ÚPà8Õ¯Ý5Õaþ8Ö5ÓyÚPÓáÜdÖ8å(ÓyÖ ñ
	Bô ç|Ö8Ý ñ�
#ô ÷]ë¡Õ,Üdæ5Úmç|ÓyÖ Φn = Fn,Λn = Lnâ�ÜdÛõç|êyê

n ∈ N0 := N∪{0} ìy�õà8Õ°ÛVÕaâ�ÜdÛVÕR÷uë¡ÕpãøçnòøÓyÖ�ÚVÕ°ÛPú5ÛVÕ°ÚõÚPà8Õpç|æDÜjÔ#Õ Φ
�±åiç|Ö8Ý

Λ
�±åqçdå0*�ßnÜdÖ]û

ÚPÓyÖJÞÐç|ÚPÓáÜdÖ��5Ü|â=ÚPà8Õ
F
�±åqç|Ö8Ý

L
�±åªâ\ÛVÜdã

N0
ÚVÜ

Z
ìy�õà5Óáå72gÞ8åPÚPÓ­þÐÕnå¡ÚVÜ©Þ8åVÕ�ÚPà8Õ�Ö8ÜdÚmç|ÚPÓáÜdÖ8å

Fn
ç|Ö8Ý

Ln
÷nâTÛVÜdã Ö8Üjë ÜdÖ=÷jâ�ÜdÛ�ÚPà8ÕiÕaýuú5ÛVÕnåmåPÓáÜdÖ8å@ÜdÖsÚPà8Õ¡ÛPÓyéRà�ÚgûZàÐç|Ö8Ý
åPÓáÝ5Õnå@ÓyÖ ñ � ô âTÜdÛ%ç|ÛPæ5ÓyÚPÛmç|ÛPò n ∈ Z

ì
��Þ5Û&þ8ÛVåVÚ&ç|Þ]ý]ÓyêyÓïç|ÛPò
ÛVÕnåPÞ5êyÚ&ú5ÛVÜBÔJÓáÝ5Õnå,Þ8åpëqÓyÚPà+ç|Ö�Õaýuú5ÛVÕnåmåPÓáÜdÖ âTÜdÛ,Ý]Ó{z6Õ°ÛVÕ°Ö8ßnÕnå,Ü|â¡í6Þ8ßjçdå

ÖJÞ5ã©æDÕ°ÛVåj÷vç|Ö8Ý'ÚPà5Óáå(ëqÓyêyê=ÚPÞ5ÛPÖ
ÜdÞ5ÚqÚVÜ
æDÕ¯çsæÐçdåPÓáß,ÚVÜuÜdê6ÓyÖ
ÜdÞ5ÛqÓyÖ8èJÞ5ÓyÛPò#ì
| <5@Q@QP}A�B�~ YRc©Udx x

s, t ∈ Z
Ygf¯W\[]M¯k°UR`bMnD]UdcaQTWTe�IªW\[5M fnYdx\x­YRz Q t�M�Udx­WXMacatvURWTQbK|M¯[uYdxyO|k G

Ls − Lt =

{

5F(s+t)/2F(s−t)/2,
Ó­â

4 | (s − t),

L(s+t)/2L(s−t)/2,
Ó­â

2 ‖ (s − t).

hicPYjYgf°ì�� ÓyÚPà
q := (s + t)/2, r := (s − t)/2 ⇔ s = q + r, t = q − r

ëiÕ©Üdæ5Úmç|ÓyÖ=÷8æJò ñ � ôç|Ö8Ý
αβ = −1

÷

Lq+r − Lq−r = (αq+r − αq−r) + (βq+r − βq−r) = αq(αr − εrβ
r) + βq(βr − εrα

r)

= (αq − εrβ
q)(αr − εrβ

r),

ëqà8Õ°Ö8ßnÕNÜdÞ5ÛÁçdåVåVÕ°ÛPÚPÓáÜdÖ=ì8ÒpÜdÚVÕ,ÚPàÐç|Úqë¡ÕNÜdæ�ÔuÓáÜdÞ8åPêyò�ú5Þ5Ú
εr := (−1)r ì

�

�



| <5@Q@QP�V�B�� f
` ∈ N0

Udt¸ObQ f
j, h ∈ Z

UdcVM©Q tvSmYdt�Mdcar5M°tÐWõãbÜJÝQ�8÷�W\[]Mat

L5`j 6≡ L5`h (mod 5).

hicPYjYgf°ì � ßnßnÜdÛVÝ]ÓyÖ5ébÚVÜ í=Õ°ã
ãøç 	 ÷]ÚPà8Õ,ßnÜdÖ5éRÛPÞ8Õ°Ö8ßnÕ L5`i ≡ Li (mod 5)
à8ÜdêáÝ5åiâTÜdÛÁç|ÖJò

i ∈ Z
ì

��Ö ÚPà8ÕNÜdÚPà8Õ°Û(àÐç|Ö8Ý6÷8ëiÕ¯àÐçjÔ#Õ
Lj 6≡ Lh (mod5)

åPÓyÖ8ßnÕ L àÐçdå(úDÕ°ÛPÓáÜuÝ��bãbÜuÝm�bç|Ö8Ý åPÚmç|ÛPÚVåæJò 
 ÷ 	 ÷�(]÷ �8÷8ëqà8Õ°Ö8ßnÕ©ÜdÞ5ÛÁçdåVåVÕ°ÛPÚPÓáÜdÖ=ì �

�õà8Õ�Ö8Õaý]Ú¯ÚXëiÜ
êáÕ°ã
ãøçdå ßnÜdÖ�Úmç|ÓyÖ åVÜdãbÕ�Ý]ÓyÔJÓáåPÓyæ5ÓyêyÓyÚ¤ò�ú5ÛVÜdú¸Õ°ÛPÚPÓáÕnåsÜ|â(ÚPà8Õa��ÓyæDÜdÖÐçdßnß°Óiç|Ö8Ý
í6Þ8ßjçdå%ÖJÞ5ã©æDÕ°ÛVåjì&�õà8ÕnåVÕiú5ÛVÜdúDÕ°ÛPÚPÓáÕnå%ëqÓyêyêuæDÕiÜ|âÐÓyã
ú¸ÜdÛPÚmç|Ö8ßnÕõÓyÖ
ÜdÞ5Û%ãøç|ÓyÖ ú5ÛVÜJÜ|â�å�ÚVÜÁú5ÛVÕnß°ÓáåmÕ°êyò
Ý5Õ°ÚVÕ°ÛPã
ÓyÖ8Õ ñ ÜdÛj÷]ÓyÖ åVÜdãbÕ,ßjçdåVÕnåj÷]ÚVÜ
ÕnåPÚPÓyãøç|ÚVÕ ô ÚPà8Õ,Õaý5çdß°Ú(úDÜjëiÕ°ÛÁÜ|âZ� ÜdÛ 
 Üußnß°Þ5ÛPÛPÓyÖ5ébÓyÖ'ÚPà8ÕÝ]Ó{z6Õ°ÛVÕ°Ö8ßnÕnåÁÜ|â ßnÕ°ÛPÚmç|ÓyÖKí6Þ8ßjçdå(Ö�Þ5ã©æDÕ°ÛVåjì

�@Übâ�ÜdÛPã©Þ5êïç|ÚVÕ©ÚPà8ÕnåVÕ©åVÚmç|ÚVÕ°ãbÕ°Ö�ÚVå&ßnÜdÖ�Ô#Õ°Ö5ÓáÕ°ÖJÚPêyò#÷vëiÕ,þ8ÛVåPÚ�éRÓyÔ#Õ¯ÚPà8Õ&â�ÜdêyêáÜjëqÓyÖ5é�Ý5Õaþ8Ö5ÓyÚPÓáÜdÖ
ñ åVÕnÕ��ÁÜdæ5êyÓyÚ`3�×��|Ù ô ìÐí�Õ°Ú p

æDÕNç|ÖJò'ú5ÛPÓyãbÕ¯Ö�Þ5ãNæ¸Õ°Ûjì��8ÜdÛ
z ∈ Z \ {0} ÷vêáÕ°Ú t ∈ N0

æDÕ©Ý5Õaþ8Ö8ÕnÝ
æJò
ÚPà8Õ(Ý]ÓyÔJÓáåVÓyæ5ÓyêyÓyÚXò
ú5ÛVÜdúDÕ°ÛPÚPÓáÕnå��

pt | z, pt+1 6 | z
ìF�õà8Õ°Ö�ë¡ÕÁëqÛPÓyÚVÕ

ordpz
âTÜdÛ ÚPà5Óáå

t
ç|Ö8Ýbßjç|êyêÐÓyÚ

ÚPà8Õ
p
û¤çdÝ]Óáß,ÜdÛVÝ]ÓyÖÐç|ê@Ü|â

z
÷5ÜdÛ�åPà8ÜdÛPÚPêyò#÷]ÚPà8Õ

p
ûlYdcPO�MacNYPf

z
ì5ü¤ÚqÓáå(Üdæ�ÔuÓáÜdÞ8åqÚPàÐç|Új÷5Þ8åVÓyÖ5é
ÚPà5ÓáåqÖ8Ü|û

Úmç|ÚPÓáÜdÖ=÷]ëiÕ,ßjç|Ö�ëqÛPÓyÚVÕ,ßnÜdÖ5éRÛPÞ8Õ°Ö8ßnÕnå
z1 ≡ z2 (mod pk)

Õnè�Þ5ÓyÔRç|êáÕ°Ö�ÚPêyò'çdåqÜdÛVÝ
p (z1 − z2) ≥ kâ�ÜdÛ

z1, z2 ∈ Z
ì ÒpÜdÚVÕ'ÚPàÐç|Ú�ÓyÚbÓáåbÜ|âTÚVÕ°Ö/åPÞ5ÓyÚmç|æ5êáÕ'ÚVÜ�Ý5Õaþ8Ö8ÕKçdÝ5Ý]ÓyÚPÓáÜdÖÐç|êyêyò�ÜdÛVÝ

p 0 := +∞â�ÜdÛ�ç|ÖJò�ú5ÛPÓyãbÕ
p
ì\p ç|ÓyÖ ÛPÞ5êáÕnå�ÜdÖ/ÚPà8Õ

p
ûXÜdÛVÝ5Õ°Û'çdå�ÜdÛVÝ

p (z1z2) =
ÜdÛVÝ

p z1 +
ÜdÛVÝ

p z2
÷¡ÜdÛ

ÜdÛVÝ
p (z1 + z2) ≥ min(

ÜdÛVÝ
p z1,

ÜdÛVÝ
p z2)

÷#ÚPà8ÕÁêïç|ÚPÚVÕ°Û¡ëqÓyÚPà�Õnè�ÞÐç|êyÓyÚ¤òbÓ­â=ÜdÛVÝ
p z1 6= ÜdÛVÝ p z2

÷�ç|ÛVÕ
ÕjçdåPÓyêyò�ßVà8Õnßmÿ#ÕnÝ6ì

��Þ5ÛÁÖ8ÕaýuÚ(êáÕ°ã
ãøç
ÓáåqæÐçdåPÓáßpâ�ÜdÛqÚPà8Õ,ú5ÛVÜJÜ|â Ü|â��õà8ÕnÜdÛVÕ°ã 	 ì
| <5@Q@QP�c#B H []MsM`_°r5URWTQ�Ydt ord5 Fn = ord5 n

[uYdxyO|k f°YRcNMLK|Macae
n ∈ Z G

hicPYjYgf°ì��+Õªãøçjò©åPÞ5ú5úDÜRåVÕ
n 6= 0

ì��8ÛVÜdã í=Õ°ã
ãøç��(ÓyÖ�× 	 Ù]ë¡Õ¡Óyã
ãbÕnÝ]Óïç|ÚVÕ°êyò©Ý5ÕnÝ]Þ8ßnÕ ord5 Fn ≤
ord5 n

ì���ÜNé#Õ°ÚªÚPà8Õ(ÛVÕ°Ô#Õ°ÛVåmÕnÝøÓyÖ8ÕnèJÞÐç|êyÓyÚXò#÷Jë¡Õ�ú5Þ5Ú
k := ord5 n

÷#ëqà8Õ°Ö8ßnÕ
n = 5kj

ëqÓyÚPà�åVÜdãbÕ
j ∈ Z, 5 6 | j

ì&�5ÛVÜdãÍÚPà8Õ¡þ8ÛVåPÚ�âTÜdÛPãNÞ5êïç�ÓyÖ ñ � ô ëiÕ¡ÓyÖ]â�Õ°Û%ÚPà8Õië¡Õ°êyê­ûZÿuÖ8ÜjëqÖøÝ]ÓyÔuÓáåPÓyæ5ÓyêyÓyÚXòNú5ÛVÜdú¸Õ°ÛPÚ¤ò
F5k |Fn

÷8ç|Ö8Ý�ÚPà�Þ8å
ord5 F5k ≤ ord5 Fn

ì5í�Õ°ã
ãøç;�sÓyÖ+× 	 Ù�åmçjòuå ord5 F5k = k
åPÞ8ßVà'ÚPàÐç|ÚÁë¡Õ

ç|ÛVÕ¯Ý5ÜdÖ8ÕRì
�

��Þ5Û(âTÜdÞ5ÛPÚPàKç|Ö8Ý êïçdåPÚqêáÕ°ã
ãøç ú5êïçnò]å�ç|Ö'Óyã
úDÜdÛPÚmç|Ö�Ú�ÛVÜdêáÕ,ÓyÖ'ÚPà8Õ,ú5ÛVÜuÜ|â%Ü|â��õà8ÕnÜdÛVÕ°ã 
 ì
| <5@Q@QPgf�B�~ YRc

u, v ∈ Z
I W\[]MªfnYdx\x­Ydz Q\t�MbkaWZURWXM°`bM°tÐW\k&[uYdxyO G� Q��

3 |u ⇔ 2 |Fu ⇔ 2 |Lu,� Q Q��
3 |u, 6 6 | u ⇒ ord2 Fu = 1, ord2 Lu = 2,� Q Q\Q��
6 |u ⇒ ord2 Fu ≥ 3, ord2 Lu = 1, (more precisely : ord2(Lu − 2) ≥ 4),� QNK`�
2 |u ⇒ ord2 F3u = 2 + ord2 u.^ YRcPMPY&K|Mac�IiQ f

k ∈ N, k ≥ 3,
W\[]M°t_YdtDM,[]U|k

� �¸��� � � � �n� �Z�|���=�q� �l� �D�Z�|�%� � �q� � �6�Z�|���|��� � � � � � � �Z� � � pt‖z
����� ��� �a� ¬ � � � � �J�g�q� �q» �

�



� K`�
ord2(L3·2k−1+u − Lu)







= k
fnYdc

3 6 | u,
= k + 1

fnYdc
3 |u, 6 6 | u,

≥ k + 3
fnYdc

6 |u.hicPYjYgf°ì ñ Ó ô óF�õà5Óáå Óáå ç&ßnÜdÖ8åVÕnè�Þ8Õ°Ö8ßnÕÁÜ|â¸ÚPà8ÕiâZçdß°Ú ÚPàÐç|Ú æDÜdÚPàbåVÕnè�Þ8Õ°Ö8ßnÕnå F ç|Ö8Ý L ãbÜJÝ 
 æDÕ°éRÓyÖëqÓyÚPào%]÷ 	 ÷ 	 ç|Ö8Ý'ÚPà8Õ°Ö ÛVÕ°úDÕjç|Újì
ñ ÓyÓ ô ó8öJÓyÖ8ßnÕ F ãbÜuÝa�sæ¸Õ°éRÓyÖ8åiëqÓyÚPà�%]÷ 	 ÷ 	 ÷ 
 ÷�(]÷ 	 ç|Ö8ÝøÚPà8Õ°Ö�ÛVÕ°úDÕjç|ÚVåj÷Jë¡ÕpàÐçnÔ#Õ Fu ≡ 2 (mod 4)â�ÜdÛ�ÜuÝ5Ý�ãNÞ5êyÚPÓyú5êáÕnå

u
Ü|â�(]ì � å�ç|êyÛVÕjçdÝ]òFÖ8ÜdÚPÓáßnÕnÝ/ÓyÖ��ÁÕ°ãøç|ÛPÿk�8÷ L ãbÜuÝ���æ¸Õ°éRÓyÖ8å�ëqÓyÚPà


 ÷ 	 ÷�(]÷�%]÷�(]÷�(bç|Ö8Ý�ÚPà8Õ°Ö�ÛVÕ°úDÕjç|ÚVåj÷]ëqà8Õ°Ö8ßnÕ ord2 Lu ≥ 2
â�ÜdÛõÚPà8ÕnåVÕ,åmç|ãbÕ

u
�±åjì]ü¤Ö�â�çdß°Új÷uë¡Õ&àÐçjÔ#Õ

à8Õ°ÛVÕ¯ÕnèJÞÐç|êyÓyÚXò'åPÓyÖ8ßnÕ¯Ö8Ü ÛVÕnåPÓáÝ]Þ8Õ�% Üußnß°Þ5ÛVå(ÓyÖ L ãbÜuÝ8�]ì
ñ ÓyÓyÓ ô ó5�5ÛVÜdã ñ � ô ëiÕNåmÕnÕ Fv |Fu

â�ÜdÛ�Õ°Ô#Õ°ÛPò
v 6= 0

Ý]ÓyÔJÓáÝ]ÓyÖ5é
u
ì5�pÕ°Ö8ßnÕ

F6 = 8
Ý]ÓyÔuÓáÝ5Õnå

Fu
Ó­â

6 |u ì��5ÛVÜdã ÚPà8Õ ÛVÕjçdåVÜdÖ5ÓyÖ5é�âTÜdÛ ñ ÓyÓ ô ëiÕªßjç|Ösç|êáåmÜÁåVÕnÕ Lu ≡ 2 (mod 4)
Ó­â

6 |u ì��õà8ÕªåPàÐç|ÛPúDÕ°Ö5ÓyÖ5éÜ|â%ÚPà5ÓáåõâZçdß°Ú(ëqÓyêyê=æDÕ&ú5ÛVÜjÔ#ÕnÝ
ç|Ú(ÚPà8Õ©Õ°Ö8Ý'Ü|â ñ ÓyÔ ô ì
ñ ÓyÔ ô ó��+Õ ãøçjò�çdåVåPÞ5ãbÕ u 6= 0

ì ��ÛPÓyÚPÓyÖ5é
u = 2tv

ëqÓyÚPà/ÜuÝ5Ý
v ∈ Z

ç|Ö8Ý:ÓyÚVÕ°Ûmç|ÚPÓyÖ5é�ÚPà8Õ
â�ÜdÛPã©Þ5êïç

F2n = FnLn ñ Õ°ÔJÓáÝ5Õ°ÖJÚ(âTÛVÜdã ñ � ôPô åPÞ)6øß°ÓáÕ°ÖJÚPêyò�Ü|âTÚVÕ°Ö=÷5ëiÕ¯Üdæ5Úmç|ÓyÖ

F3u = F3·2tv = F3v ·
t−1
∏

τ=0

L3·2τ v.

xpåPÓyÖ5é ñ ÓyÓ ô ç|Ö8Ý ñ ÓyÓyÓ ô ÚPà5ÓáåõâTÜdÛPãNÞ5êïç êáÕjçdÝ5å(Þ8å(ÚVÜ
ord2 F3u = 1 + (t − 1) + 2 = 2 + ord2 u.

çdåbçdåVåmÕ°ÛPÚVÕnÝ6ì��õà8Õ'åVàÐç|ÛPú¸Õ°Ö5ÓyÖ5é�Ü|â
ord2 Lu = 1

âTÜdÛ
6 |u ßjç|Ö æ¸Õ�ÕnåPÚmç|æ5êyÓáåVà8ÕnÝ çdåsâ�ÜdêyêáÜjë(åBìÒpÜdÚVÕ©ÚPàÐç|Ú

Lu − 2 = Lu − L0
ÕnèJÞÐç|êáå

5F 2
u/2

ÜdÛ
L2

u/2

çdßnßnÜdÛVÝ]ÓyÖ5é çdå u
2

ÓáåpÕ°Ô#Õ°ÖKÜdÛ&ÜJÝ5Ý6ìvüXÖ
ÚPà8Õpþ8ÛVåPÚ(ßjçdåmÕR÷]ë¡Õ&þ8Ö8Ý

ord2 (Lu − 2) = 2(2 + ord u
2 ) ≥ 6

Þ8åPÓyÖ5é ñ ÓyÔ ôL� ÓyÖ'ÚPà8Õ,åmÕnßnÜdÖ8Ý ßjçdåVÕëiÕ,é#Õ°Ú
ord2 (Lu − 2) = 2 ord2 Lu/2 = 4

÷5æJò ñ ÓyÓ ô ì
ñ Ô ô ó8í=Õ°ã
ãøç 	 ç|Ö8Ý ñ ÓyÔ ô êáÕjçdÝ�ÚVÜ

ord2 (L3·2k−1+u − Lu) = ord2 (F3·2k−2+uF3·2k−2) = ord2 F3·2k−2+u + k.

üXâ
3 6 | u

÷¸ÚPà8Õ°Ö
2 6 | F3·2k−2+u

÷¸æ�ò ñ Ó ô ÷6ç|Ö8Ý_Ó­â 3 |u, 6 6 | u
ÚPà8Õ°Ö

2 ‖F3·2k−2+u

çdßnßnÜdÛVÝ]ÓyÖ5é ÚVÜ
ñ ÓyÓ ô ì���ÓyÖÐç|êyêyò#÷ 6 |u êáÕjçdÝ5å(ÚVÜ ord2 F3·2k−2+u ≥ 3

÷5æ�ò ñ ÓyÓyÓ ô ì �

�%Ãn� Æ�Ç�Ç��¯Ç��N�h� ÎÐÇ=Æ#Î�s Â
�õà8Õ åPÚPÛPÞ8ß°ÚPÞ5ÛVÕ Ü|â ÚPà5Óáåpú5ÛVÜJÜ|â¡Óáå&çdåÁâ�ÜdêyêáÜjë(åjì���ÓyÛVåPÚj÷vë¡Õ Ý5Õ°ãbÜdÖ8åPÚPÛmç|ÚVÕ ÚXëiÜ�ú5ÛVÜdú¸ÜRåPÓyÚPÓáÜdÖ8åpÛVÕaû
êïç|ÚPÓyÖ5ébÚVÜ ÚPà8Õ,þ8ÛVåPÚÁç|Ö8Ý'åVÕnßnÜdÖ8Ý ßjçdåVÕ&ÓyÖ ñ � ô ÷8ÛVÕnåPú¸Õnß°ÚPÓyÔ#Õ°êyò#ì�"iÜdÚPà'ú5ÛVÜdúDÜRåPÓyÚPÓáÜdÖ8å�ßnÜdÖ�Úmç|ÓyÖ ÚPà8Õú5à5ÛmçdåVÕ8*¨ç|Ú¯êáÕjçdåPÚ��6Ú¤ëqÓáßnÕRì��&çnÔuÓyÖ5é ÚPà8ÕnåVÕ
ÛVÕnåPÞ5êyÚVåB÷6ÜdÞ5Û,þ8ÖÐç|ê¡ç|ÛPéRÞ5ãbÕ°Ö�ÚsÓyã
ú5êyÓáÕnåj÷�ç|Úsç�æ5êáÜjë¯÷
	Bô ÚPàÐç|ÚNç|êyê ÚPà8ÕnåmÕQ*¨ç|Ú,êáÕjçdåPÚ��6ßjç|Ö�æ¸ÕsÛVÕ°ú5êïçdßnÕnÝ�æ�ò�*�Õaý5çdß°ÚPêyò�� ñ à8Õ°Ö8ßnÕ
åPà8ÜjëqÓyÖ5é
ÚPà8Õ
ÚPÛPÞ5ÚPà+Ü|ââ�ÜdÛPã©Þ5êïç ñ � ô ÓyÖ ÚPà8Õ¯þ8ÛVåPÚ(ÚXëiÜ�ßjçdåmÕnå ô ç|Ö8Ý 
#ô ÚPàÐç|Ú vL(5k, b) = 0

â�ÜdÛ�ç|êyê
b
�±åÁÖ8ÜdÚpç|ú5úDÕjç|ÛPÓyÖ5é

ÓyÖ ÚPà8Õpþ8ÛVåVÚ(ÚXëiÜøßjçdåVÕnåjì

�



� >�=?�7=?�F������= � A�BiC r�DyD]Y|knM W\[]URW
k ∈ N GaH []Mat W\[]MacVM�UdcVM_URW©xáMPU|k°Wif°Ydruc ORQïk°WTQ tvSjW b ∈

{0, ..., 5k − 1} YjSVSnrJcaclQ\t�M URW,xáMPU|k°W 5[(k−1)/2] WTQ\`øMlk'Udk�cVMlklQ�Odr8M mod 5k Ygf�W\[]M Ln
z Q\W\[

0 ≤ n < 4 · 5k−1 ì
hicPYjYgf°ì��8ÜdÛ

n, j ∈ Z
ëqÓyÚPà

4 |n ë¡Õ©Ý5ÕnÝ]Þ8ßnÕ,âTÛVÜdã�í=Õ°ã
ãøç 	
Ln+5[k/2]j − L5[k/2]j = 5F(n/2)+5[k/2]jFn/2

à8Õ°Ö8ßnÕR÷5æJò'í=Õ°ã
ãøça(]÷

ñ � ô ord5(Ln+5[k/2]j − L5[k/2]j) = 1 + ord5

(n

2
+ 5[k/2]j

)

+ ord5
n

2
.

� åVåPÞ5ã
ÓyÖ5é8÷5ãbÜdÛVÕnÜBÔ#Õ°Ûj÷8ÚPàÐç|Ú

ñ � ô ord5
n

2
≥

[k

2

]

ëiÕ¯Üdæ5Úmç|ÓyÖ âTÛVÜdã ñ � ô
ord5(Ln+5[k/2]j − L5[k/2]j) ≥ 1 + 2

[k

2

]

> 1 + 2
(k

2
− 1

)

= k − 1,

à8Õ°Ö8ßnÕ
Ln+5[k/2]j ≡ L5[k/2]j (mod 5k).

�iÜdÖ8Ý]ÓyÚPÓáÜdÖ ñ � ô åmçjòuåªÚPàÐç|Ú 5[k/2] àÐçdå ÚVÜ,æDÕÁç©Ý]ÓyÔJÓáåVÜdÛ¡Ü|âDÚPà8ÕÁÕ°Ô#Õ°ÖøÖ�Þ5ãNæ¸Õ°Û n
2

ìF�õà8Õ°ÛVÕaâTÜdÛVÕR÷�ë¡Õ
ëqÛPÓyÚVÕ

n = 4·5[k/2] ·i ëqÓyÚPà åVÜdãbÕ i ∈ N0, i < 5[(k−1)/2] ì ñ ÒpÜdÚVÕªà8Õ°ÛVÕiÚPàÐç|Ú [k−1
2 ]+[k2 ] = k−1â�ÜdÛ(Õ°Ô#Õ°ÛPò

k ∈ Z
ì ô Ò�ÜBë¯÷]âTÜdÛ(Õ°Ô#Õ°ÛPò�þ5ý5ÕnÝ j ∈ {0, 1, 2, 3} ÷¸ëiÕ,ÚPà8Õ°Ö àÐçnÔ#Õ

0 ≤ n + 5[k/2]j = (4i + j) 5[k/2] ≤ (4 · 5[(k−1)/2] − 4 + 3) 5[k/2] < 4 · 5k−1.

� ßnßnÜdÛVÝ]ÓyÖ5é ÚVÜ�í=Õ°ã
ãøç 
 ÷vÚPà8ÕNâ�ÜdÞ5Û&Ö�Þ5ã©æDÕ°ÛVå L5[k/2]j (j = 0, 1, 2, 3)
ç|ÛVÕsúÐç|ÓyÛPëqÓáåVÕ ÓyÖ8ßnÜdÖ]û

éRÛPÞ8Õ°ÖJÚÁãbÜuÝ8� à8Õ°Ö8ßnÕR÷ÐçNâ�ÜdÛPÚPÓáÜdÛPÓZ÷5ãbÜJÝ
5k ç|Ö8Ý U ÛVÜdú¸ÜRåPÓyÚPÓáÜdÖ 	 Óáåqú5ÛVÜjÔ#ÕnÝ6ì �

� >�=?�7=?�F������= �¡V�B�C r�DyD]Y|knM
k ∈ N, k ≥ 2 GZH []MatJIRfnYdc(MLK|Macae©Q\tÐWXM�M�M°c `

z QTW\[
0 ≤ ` ≤ k

2 −1
I

W\[]M°cPMsM`¢dQ kaWªU#W xyMVU|kaW
8 · 5k−2`−2 OdQ kaWTQ\tvSnW b ∈ {0, ..., 5k − 1} YjSVS°ruclcaQ\t�M�URW%xyMVU|kaW 2 · 5` WTQ\`øMlkU|k,cVMlklQ�Odr8Mlk

mod 5k Ygf¯W\[5M Ln
z Q\W\[

0 ≤ n < 4 · 5k−1 G
hicPYjYgf G �8ÜdÛ�ç|êyê n ∈ Z

ëqÓyÚPà
ord5n = `

÷]ëiÕ¯Ý5ÕnÝ]Þ8ßnÕ&âTÛVÜdã í=Õ°ã
ãøçdå 	 ç|Ö8Ým(

ord5(Ln+4·5k−`−1 − Ln) = ord5(5F2·5k−`−1Fn+2·5k−`−1) = 1 + (k − ` − 1) + ` = k,

ëqà8Õ°ÛVÕ�ë¡Õ�ÕnåVåVÕ°ÖJÚPÓïç|êyêyò+Þ8åVÕnÝ+ÚPà8Õøà�òuú¸ÜdÚPà8ÕnåVÓáå
` ≤ k

2 − 1 ⇔ ` < k − ` − 1
ì���Õ°Ö8ßnÕøë¡Õ

àÐçjÔ#Õ
Ln+4·5k−`−1 ≡ Ln (mod 5k)

â�ÜdÛÁç|êyê
n
çdåqæDÕaâ�ÜdÛVÕRì��õà5ÓáåqãbÕjç|Ö8åjó8üXâ%ë¡Õ,ëõç|Ö�ÚÁÚVÜ
ßnÜdÞ5ÖJÚ

ÚPà8Õ
ÓyÖJÚVÕ°é#Õ°ÛVå
n
ëqÓyÚPà

0 ≤ n < 4 · 5k−1 ç|Ö8Ý ord5 n = `,
âTÜdÛ,ëqà5Óáßmà�ç�éRÓyÔ#Õ°Ö

b
ÜJßnß°Þ5ÛVåNçdå

�



ç ÛVÕnåPÓáÝ]Þ8ÕøÜ|â
Ln
ãbÜuÝ

5k ÷=ÚPà8Õ°Ö�ëiÕbãøçjò+Ý5Õ°ÚVÕ°ÛPã
ÓyÖ8ÕøÚPà8ÕøÖ�Þ5ã©æDÕ°Û Ü|âqåVÞ8ßVà n
�±å©åmç|ÚPÓáågâTòJÓyÖ5é

0 ≤ n < 4 · 5k−`−1 ç|Ö8Ý ord5 n = `,
ç|Ö8Ý'ãNÞ5êyÚPÓyú5êyò�ÚPà5Óáå(Ö�Þ5ãNæ¸Õ°Û(þ8ÖÐç|êyêyò�æJò

5` ì�õà8Õ°ÛVÕaâ�ÜdÛVÕR÷8ëiÕ,àÐçnÔ#Õ¯ÚVÜ
ÓyÖ�Ô#ÕnåPÚPÓyé�ç|ÚVÕ©ÚPà8Õ¯Ý]ÓáåPÚPÛPÓyæ5Þ5ÚPÓáÜdÖ
Ü|â%ÚPà8Õ
16 · 5k−2`−2 Ö�Þ5ãNæ¸Õ°ÛVå

ñ Ø ô L5`j (0 ≤ j < 4 · 5k−2`−1, 5 6 | j)

ãbÜuÝ
5k ì£�+Õ,çdåVåVÕ°ÛPÚõÚPàÐç|ÚõàÐç|ê­â�Ü|â�ÚPà8Õ°ã ÷JÓZì±ÕRìy÷ 8 · 5k−2`−2 Ü|â�ÚPà8ÕnåVÕ L

�±åj÷]ç|ÛVÕpúÐç|ÓyÛPëqÓáåVÕ&ÓyÖ8ßnÜdÖ]û
éRÛPÞ8Õ°ÖJÚ¡ãbÜuÝ

5k ÷dëqà8Õ°ÛVÕjçdåªÚPà8Õ(ÜdÚPà8Õ°Û¡àÐç|ê­â=ßnÜdÓyÖ8ß°ÓáÝ5Õnå ãbÜuÝ 5k ëqÓyÚPàbÚPà8Õqþ8ÛVåPÚªàÐç|ê­âgì��Áâ6ßnÜdÞ5ÛVåVÕR÷ÚPà5ÓáåÁÓyã
ú5êyÓáÕnå U ÛVÜdúDÜRåPÓyÚPÓáÜdÖ 
 ì�+Õ,þ8ÛVåPÚ(åPà8Üjë
L5`(4·5k−2`−1−j) ≡ L5`j (mod 5k)â�ÜdÛqÚPà8Õ�MLK|M°t

j
çdåqÓyÖ ñ Ø ô ì5ü¤Ö8Ý5ÕnÕnÝ6÷5ë¡Õ¯é#Õ°Úqâ\ÛVÜdã�í�Õ°ã
ãøçdå 	 ç|Ö8Ým(

ord5(L5`(4·5k−2`−1−j)−L5`j) = ord5(5F5`(2·5k−2`−1−j)F2·5k−`−1) = 1+`+(k−`−1) = k.

öJÞ5ú5úDÜRåVÕ Ö8ÜBë�ÚPàÐç|Ú
j
çdå@ÓyÖ ñ Ø ô Óáå¡YjO�ORì��+ÕªëqÛPÓyÚVÕ¡Õ°ÓyÚPà8Õ°Û j = 5k−2`−1+i

ÜdÛ
j = 3·5k−2`−1+iëqÓyÚPà |i| < 5k−2`−1, 5 6 | i

æ5Þ5Ú
2 | i ìJ�+Õ,ÚPà8Õ°Ö àÐçjÔ#Õ&â�ÜdÛqæ¸ÜdÚPà λ ∈ {1, 3}

ñ
	 % ô ord5(L5`(λ·5k−2`−1+i) − L5`(λ·5k−2`−1−i)) = ord5(5Fλ·5k−`−1F5`i) = k.

�&çnÔuÓyÖ5é+Ú¤ë¡Ü
j
çdå ÓyÖ ñ Ø ô æ5Þ5ÚøÜ|â,Ý]ÓáåPÚPÓyÖ8ß°ÚbúÐç|ÛPÓyÚ¤ò#÷ ÚPà8Õ°Ö�ÚPà8Õ'ßnÜdÛPÛVÕnåPúDÜdÖ8Ý]ÓyÖ5é L5`j

ç|ÛVÕ
ÓyÖ8ßnÜdÖ5éRÛPÞ8Õ°ÖJÚ�ãbÜuÝ��]÷ªç|Ö8ÝFÚPà�Þ8å�ãbÜJÝ

5k ì �pÕ°Ö8ßnÕ ëiÕ
ßnÜdÖ8åPÓáÝ5Õ°Û�ÚPà8Õ L5`j

ëqÓyÚPà
0 ≤ j <

2 · 5k−2`−1, 5 6 | j, 2 | j ç|Ö8Ý�ëiÕ çdåVåmÕ°ÛPÚøÚPàÐç|ÚøÚPà8Õ°òFç|ÛVÕKúÐç|ÓyÛPëqÓáåVÕ
ÓyÖ8ßnÜdÖ5éRÛPÞ8Õ°Ö�Ú'ãbÜuÝ 5k ìÒ&ç|ãbÕ°êyò#÷ªêáÕ°Ú
h, j

åmç|ÚPÓáågâTò
0 ≤ h < j < 2 · 5k−2`−1, 5 6 | hj, 2 |h, 2 | j ç|Ö8Ý ñ ë¯ì êZì±Ü5ì é8ìy÷ßnÜdã
úÐç|ÛVÕNí=Õ°ã
ãøç 
#ô 4 | (j − h)

ì � é�ç|ÓyÖKçdßnßnÜdÛVÝ]ÓyÖ5ébÚVÜbí=Õ°ã
ãøçdå 	 ç|Ö8Ý8(]÷5ëiÕ&þ8Ö8Ý

ñ
	&	Bô ord5(L5`j−L5`h)=ord5(5F5`(j−h)/2F5`(j+h)/2)=1+2`+ord5
j − h

2
+ord5

j + h

2
,

ëqà8Õ°ÛVÕsÚPà8ÕNÓyÖ8Õnè�ÞÐç|êyÓyÚPÓáÕnå
0 < j−h

2 < j+h
2 < 2 · 5k−2`−1 à8ÜdêáÝ6ì�"iò 5 6 | hj

÷Dç|ÚpãbÜRåPÚ&ÜdÖ8ÕNÜ|â
ÚPà8Õ¯èJÞ8ÜdÚPÓáÕ°Ö�ÚVå j−h

2 , j+h
2

Óáå(çsã©Þ5êyÚPÓyú5êáÕNÜ|â��]ì5üXâ@ÚPà5Óáå(àÐç|ú5ú¸Õ°Ö8åõâ�ÜdÛqÖ8ÜdÖ8Õ¯Ü|â�ÚPà8ÕnåVÕ¯èJÞ8ÜdÚPÓáÕ°Ö�ÚVåj÷
ÚPà8Õ°Ö ñ
	&	Bô Óyã
ú5êyÓáÕnå

ord5(L5`j − L5`h) = 1 + 2` ≤ k − 1,

æJò�ÜdÞ5ÛpßnÜdÖ8Ý]ÓyÚPÓáÜdÖKÜdÖ
`
ÓyÖ U ÛVÜdúDÜRåPÓyÚPÓáÜdÖ 
 ì � åmåPÞ5ãbÕ&Ö8Üjë ω := ord5

j+h
2 ∈ N

à8Õ°Ö8ßnÕ j+h
2 =

α ·5ω ëqÓyÚPà α ∈ N, 5 6 | α
ì��õà5Óáå Óyã
ú5êyÓáÕnå

α ·5ω < 2 ·5k−2`−1 ç|Ö8ÝbÚPà8Õ°ÛVÕaâ�ÜdÛVÕ ω ≤ k−2`−1
÷

ëqà8Õ°ÛVÕ,ëiÕ©ç|ÛVÕ,é#ÜdÓyÖ5ébÚVÜ
Õaý5ß°êyÞ8Ý5Õ¯ÕnèJÞÐç|êyÓyÚXò#ì8Ò&ç|ãbÕ°êyò#÷5Ó­â
ω = k − 2` − 1

÷5ÚPà8Õ°Ö
α = 1

à8Õ°Ö8ßnÕ
j +h = 2 · 5k−2`−1 � âTÛVÜdã j −h = 4β

ëqÓyÚPà�åVÜdãbÕ
β ∈ N

ëiÕ�ëiÜdÞ5êáÝøé#Õ°Ú
j = 5k−2`−1 +2β

÷
à8Õ°Ö8ßnÕ

j
ë¡ÜdÞ5êáÝ
æ¸Õ,ÜuÝ5Ý6ì)�+Õ,ÚPà�Þ8å�Üdæ5Úmç|ÓyÖ

ω ≤ k − 2` − 2
÷]ëqà8Õ°Ö8ßnÕ¯ÚPà8Õ¯ÕnåPÚPÓyãøç|ÚVÕ

ñ
	�
#ô ord5(L5`j − L5`h) = 1 + 2` + 0 + ω ≤ k − 1,

âTÛVÜdã ñ
	&	Bô ÷Ðç|Ö8Ý�ÚPà5ÓáåÁãbÕjç|Ö8å
ñ
	 ( ô L5`j 6≡ L5`h (mod 5k).

Ø



üXâ
ω̃ := ord5

j−h
2 ∈ N

÷@ÚPà8Õ°Ö
ω = 0

ç|Ö8Ý�â\ÛVÜdã
0 < j−h

2 < 5k−2`−1 ë¡Õ�ßnÜdÖ8ß°êyÞ8Ý5Õ ω̃ ≤
k − 2` − 2

êáÕjçdÝ]ÓyÖ5ébÚVÜ ñ
	�
#ô ëqÓyÚPà ω
ÛVÕ°ú5êïçdßnÕnÝ
æ�ò

ω̃
ì

ÒpÕaý]ÚiëiÕ&àÐçnÔ#Õ,ÚVÜ ßnÜdÖ8åPÓáÝ5Õ°Û(ÜuÝ5Ý
j
�±åÁçdåõÓyÖ ñ Ø ô ìJ"iòøÔuÓyÛPÚPÞ8Õ&Ü|â@ÚPà8Õ,åPòuã
ãbÕ°ÚPÛPòøú5ÛVÜdúDÕ°ÛPÚPÓáÕnåÕ°ÔuÓáÝ5Õ°Ö�Ú©â\ÛVÜdã ñ
	 % ô ÷6ÓyÚ,Óáå¯Ö8Üjë Õ°Ö8ÜdÞ5éRà�ÚVÜ�ÓyÖ�Ô#ÕnåPÚPÓyé�ç|ÚVÕøÚPà8ÕbßjçdåVÕ j = 3 · 5k−2`−1 − i, h =

5k−2`−1 + g
ëqÓyÚPà

0 < g, i < 5k−2`−1, 5 6 | gi
ç|Ö8Ý

g, i
æ¸ÜdÚPà�Õ°Ô#Õ°Ö=ì=öJÓyÖ8ßnÕR÷6ç|é�ç|ÓyÖ ë¯ì êZì±Ü5ì é8ìy÷

ëiÕ,ãøçnò'çdåVåPÞ5ãbÕ
4 | (j − h)

÷]ëiÕ¯ßnÜdÖ8ß°êyÞ8Ý5Õ&âTÛVÜdã
j − h = 2 · 5k−2`−1 − (g + i)

ÚPàÐç|Ú g+i
2

Óáå
ÜuÝ5Ý�êáÕjçdÝ]ÓyÖ5éøÓyã
ãbÕnÝ]Óïç|ÚVÕ°êyò'ÚVÜ

g 6= i
ì�x�åVÓyÖ5ébÜdÖ8ßnÕ,ãbÜdÛVÕ¯í=Õ°ã
ãøçdå 	 ç|Ö8Ým(]÷]ë¡Õ©ç|ÛVÕ¯êáÕnÝ'ÚVÜ

ñ
	 � ô ord5(L5`j −L5`h) = 1 + 2` + ord5(5
k−2`−1 − g + i

2
) + ord5(2 · 5k−2`−1 +

g − i

2
).

�pÕ°ÛVÕ
ë¡ÕøÝ]ÓáåPÚPÓyÖ5éRÞ5ÓáåPà+ÚPà8Õ
Ú¤ë¡ÜKßjçdåVÕnå©çdßnßnÜdÛVÝ]ÓyÖ5é çdå¯ÚPà8Õ Ö8ÜdÖJ3jÕ°ÛVÜ ÓyÖ�ÚVÕ°é#Õ°Û g−i
2

Óáå¯ÜdÛ,Óáå,Ö8ÜdÚ
ç ãNÞ5êyÚPÓyú5êáÕNÜ|â?�]ì8ü¤Ö'ÚPà8Õ©åmÕnßnÜdÖ8Ý ßjçdåVÕR÷5ÚPà8Õ©êïçdåPÚÁåPÞ5ã
ãøç|Ö8ÝKÜdÖ ÚPà8Õ,ÛPÓyéRà�ÚgûZàÐç|Ö8Ý_åPÓáÝ5Õ©Ü|â ñ
	 � ôÔRç|Ö5ÓáåPà8Õnåj÷vëqà8Õ°ÛVÕjçdå&ÚPà8Õ©Ö8Õaý]ÚpÚVÜøÚPà8ÕsêïçdåPÚpÓáåÁêáÕnåmå�ÚPàÐç|Ö

k − 2` − 1
÷vëqà8Õ°Ö8ßnÕ ñ
	 ( ô ì�"iÞ5ÚpÓ­âR�Ý]ÓyÔuÓáÝ5Õnå g−i

2

÷dÚPà8Õ°Ö
ÓyÚ ßjç|Ö5Ö8ÜdÚ Ý]ÓyÔJÓáÝ5Õ g+i
2

÷|æ�ò
5 6 | gi

÷#ç|Ö8Ý ÚPà8ÕõÚPà5ÓyÛVÝ
åPÞ5ã
ãøç|Ö8Ý
ÜdÖ
ÚPà8ÕiÛPÓyéRàJÚgû
àÐç|Ö8Ý�åPÓáÝ5ÕÁÜ|â ñ
	 � ô Ôdç|Ö5ÓáåVà8Õnåjìy�5ÛVÜdã 0 < | g−i

2 | < 5k−2`−1 ëiÕ�Üdæ5Úmç|ÓyÖ ord5
g−i
2 < k− 2`− 1

÷
à8Õ°Ö8ßnÕ©ç|é�ç|ÓyÖ ñ
	 ( ô â\ÛVÜdã ñ
	 � ô ì �

¤ �¥��P\[}¦8>�§n¨n@Q<5�0�\© �õà8Õ'âZçdß°ÚøÚPàÐç|Ú�ÓyÖ�ÚPà8Õ ÚPà5ÛVÕnÕ ßjçdåVÕnåbâTÜdÛ
b
Üußnß°Þ5ÛPÛPÓyÖ5é�ÓyÖ ñ � ô ÚPà8ÕÓyÖ8ÕnèJÞÐç|êyÓyÚPÓáÕnå

ñ
	 � ô vL(5k, b) ≥ 5[(k−1)/2], vL(5k, b) ≥ 2 · 5`,
ÜdÛ

vL(5k, b) ≥ 0

à8ÜdêáÝ6÷=âTÜdêyêáÜBë(å¯âTÛVÜdã U ÛVÜdúDÜRåPÓyÚPÓáÜdÖ8å 	 ÷ 
 ÜdÛNÓáåNç�ÚPÛPÓyÔuÓïç|êyÓyÚXò#÷@ÛVÕnåPúDÕnß°ÚPÓyÔ#Õ°êyò#ì��õàJÞ8åj÷�ëiÕøÜdæ5Úmç|ÓyÖç�âTÚVÕ°Û�çsã
ÓyÖ8ÜdÛÁßjç|êáß°Þ5êïç|ÚPÓáÜdÖKÞ8åPÓyÖ5é�ç|é�ç|ÓyÖ
[k−1

2 ] + [k2 ] = k − 1

5k−1
∑

b=0

v(5k, b) ≥ 4 · 5[(k−1)/2] +

[k/2]−1
∑

`=0

(2 · 5`)(8 · 5k−2`−2) = 4 · 5k−1.

"iÞ5ÚõÚPà8Õ,åPÞ5ã ÜdÖ�ÚPà8Õ�êáÕaâTÚgûZàÐç|Ö8Ý'åPÓáÝ5ÕpÚPÛPÓyÔuÓïç|êyêyò�ÕnèJÞÐç|êáå
hL(5k)

÷uëqà5ÓáßVà'Óáå
4 · 5k−1 çdßnßnÜdÛVÝ]ÓyÖ5éÚVÜ+��ç|êyê!�±åbâTÜdÛPãNÞ5êïç+èJÞ8ÜdÚVÕnÝ:ÓyÖFÜdÞ5ÛbÓyÖJÚPÛVÜJÝ]Þ8ß°ÚPÓáÜdÖ=ì\�õà8Õ°ÛVÕaâTÜdÛVÕR÷ªë¡Õ'àÐçjÔ#Õ
ÕnèJÞÐç|êyÓyÚXò ÓyÖ ñ
	 � ôâ�ÜdÛ�Õ°Ô#Õ°ÛPò�ÛVÕnåPÓáÝ]Þ8Õ

b
ãbÜJÝ

5k ÷ÐÖ8Übãøç|ÚPÚVÕ°ÛÁëqà5Óáßmà ÜdÖ8ÕNÜ|â ÚPà8Õ¯ÚPà5ÛVÕnÕ©ßjçdåmÕnåpç|ú5ú5êyÓáÕnåj÷¸ç|Ö8Ý ÚPà5Óáåú5ÛVÜBÔ#Õnå0�õà8ÕnÜdÛVÕ°ã 	 ì

ª Ãn� Æ�Ç�Ç��¯Ç��N�h� ÎÐÇ=Æ#Î�s -
��Ö8ßnÕ ç|Ö8Ý'â�ÜdÛ�ç|êyêZ÷=z¡M©kar�DyD]Y|knM

k ≥ 3
Q t�W\[�Q k¯z%[uYdxáM©knMVSnWTQTYRtÐìX�õà8ÕNåPÚPÛPÞ8ß°ÚPÞ5ÛVÕsÜ|â%ÚPà8Õ©ú5ÛVÜJÜ|â

ÓáåiåPÓyã
Óyêïç|ÛiÚVÜ©ÚPàÐç|ÚõÜ|â��õà8ÕnÜdÛVÕ°ã 	 ç|úÐç|ÛPÚiâ\ÛVÜdã ÜdÖ8ÕÁã
ÓyÖ8ÜdÛiúDÜdÓyÖ�Újì]Òpç|ãbÕ°êyò#÷Jà8Õ°ÛVÕ�ë¡ÕpÝ]ÓyÛVÕnß°ÚPêyòú5ÛVÜBÔ#Õ
Õnè�ÞÐç|êyÓyÚPÓáÕnå�â�ÜdÛ
vL(2k, b)

â�ÜdÛ,ç|êyê
b 6≡ 2 (mod 16) ñ åVÕnÕ U ÛVÜdúDÜRåPÓyÚPÓáÜdÖ8åi(�ç|Ö8Ý�� ô ÷vëqà8ÕaûÛVÕjçdå êáÜBë¡Õ°Û
æDÜdÞ5Ö8Ý5åsâTÜdÛ

vL(2k, b)
ëqÓyêyê(ç|ú5úDÕjç|Ûj÷%ç|é�ç|ÓyÖFçdåsÓyÖJÚVÕ°ÛPãbÕnÝ]Óïç|ÚVÕ'ÛVÕnåPÞ5êyÚVåj÷%ÜdÖ5êyò+â�ÜdÛ

b ≡ 2 (mod 16) ñ åVÕnÕ U ÛVÜdúDÜRåPÓyÚPÓáÜdÖ8å«�sÚPà5ÛVÜdÞ5éRà�� ô ì

	 %



��Þ5Û(þ8ÛVåPÚ(ÛVÕnåPÞ5êyÚqëqÓyêyê�ßnÜBÔ#Õ°Û�2gÞ8åPÚqÚPà8Õ¯ßjçdåVÕ,Ü|â ÜJÝ5Ý
b
�±åqÓyÖ ñ � ô ì

� >�=?�7=?�F������= �kc#By~ YdciMLK|M°cle
d ∈ {1, 2, 4, 5} I�W\[5M¡t8rJ`øðVM°cmk Ln

z QTW\[
n∈{0, ..., 3·2k−1−1}Udt¸O

n ≡ d (mod 6)
UdcPMvD]URQ caz QïkjM,Q\tvSVYRt�Mdcar5MatvWõãbÜJÝ

2k ì
� ú5ú5êyòuÓyÖ5éKÚPà5ÓáåNÚVÜ

d = 1
ç|Ö8Ý

d ∈ {2, 4, 5} ÷%ÛVÕnåPú¸Õnß°ÚPÓyÔ#Õ°êyò#÷%ç|Ö8Ý�Úmç|ÿJÓyÖ5éKÚPà8Õbþ8ÛVåPÚNÚXëiÜÕnèJÞ5ÓyÔdç|êáÕ°Ö8ßnÕnåNÜ|ân��Õ°ãøç|ÛPÿ/�'ÓyÖ�ÚVÜKçdßnßnÜdÞ5ÖJÚj÷=ëiÕøÝ5ÕnÝ]Þ8ßnÕ
vL(2k, b) = 1

âTÜdÛ
b ≡ 1 ñ ãbÜJÝ-� ôç|Ö8Ý

vL(2k, b) = 3
âTÜdÛ

b ≡ 1 ñ ãbÜuÝQ� ô ìJ�õà8ÕnåVÕ¯ç|ÛVÕR2gÞ8åPÚõÚPà8Õpþ8ÛVåPÚõÚXë¡ÜøêyÓyÖ8ÕnåqÜ|â@â�ÜdÛPã©Þ5êïç ñ � ô ì
hicPYjYgf G �+ÕNàÐçnÔ#ÕsÚVÜ�åPà8ÜjëÍÚPàÐç|ÚpÚPà8Õ L6j+d

ëqÓyÚPà
0 ≤ j < 2k−2 ç|ÛVÕNúÐç|ÓyÛPëqÓáåVÕ©ÓyÖ8ßnÜdÖ5éRÛPÞ8Õ°ÖJÚãbÜuÝ

2k ìJ��Ü
ÚPà5Óáåqú5Þ5ÛPúDÜRåVÕR÷5êáÕ°Ú 0 ≤ i < j < 2k−2 ç|Ö8Ý ßnÜdÖ8åPÓáÝ5Õ°Û­¬

ñ
	 � ô L6j+d − L6i+d =

{

5F3(j+i)+dF3(j−i)
Ó­â

j − i
Óáå(Õ°Ô#Õ°Ö

,

L3(j+i)+dL3(j−i)
Ó­â

j − i
Óáå(ÜuÝ5Ý

,

çdßnßnÜdÛVÝ]ÓyÖ5é
ÚVÜ í=Õ°ã
ãøç 	 ì)"iòøí=Õ°ã
ãøç1� ñ Ó ô ÷uæ¸ÜdÚPà�Ü|â F3(j+i)+d, L3(j+i)+d
ç|ÛVÕ&ÜJÝ5Ý6ì]üXâ

j − iÓáå(Õ°Ô#Õ°Ö=÷8ÚPà8Õ°Ö ÚPà8Õ&þ8ÛVåPÚÁç|êyÚVÕ°ÛPÖÐç|ÚPÓyÔ#Õ©ÓyÖ ñ
	 � ô êáÕjçdÝ5åqÚVÜ

ord2(L6j+d − L6i+d) = ord2 F3(j−i) = 2 + ord2(j − i),

ëqà8Õ°ÛVÕøë¡ÕbÞ8åmÕnÝ�í=Õ°ã
ãøç8� ñ ÓyÓ ô ì�öJÓyÖ8ßnÕ 0 < j − i < 2k−2 ë¡ÕbàÐçjÔ#Õ ord2(j − i) ≤ k − 3à8Õ°Ö8ßnÕ

ñ
	 � ô L6j+d 6≡ L6i+d (mod 2k).

üXâ
j − i

Óáå(ÜuÝ5Ý6÷]ÚPà8Õ°Ö ÚPà8Õ¯åVÕnßnÜdÖ8ÝKç|êyÚVÕ°ÛPÖÐç|ÚPÓyÔ#Õ¯ÓyÖ ñ
	 � ô ç|Ö8Ý í�Õ°ã
ãøçe� ñ ÓyÓ ô ÚVÜdé#Õ°ÚPà8Õ°ÛÁÓyã
ú5êyò

ord2(L6j+d − L6i+d) = ord2 L3(j−i) = 2,

ëqà5Óáßmà
ÓáåqêáÕnåVå(ÚPàÐç|Ö
k
÷8ëqà8Õ°Ö8ßnÕ©ç|é�ç|ÓyÖ ñ
	 � ô ì �

��Þ5ÛÁÖ8ÕaýuÚ(ÛVÕnåVÞ5êyÚqëqÓyêyê�ßnÜjÔ#Õ°Û?2�Þ8åPÚõÚPà8Õ¯ßjçdåmÕ
b ≡ 4 ñ ãbÜuÝm� ô ÓyÖ ñ � ô ì

� >�=?�7=?�F������= �df�B?® x x
b ∈ {0, ..., 2k − 1} z QTW\[ b ≡ 4 ñ ãbÜJÝ-� ô YBSVS°ruc�M`¢#U�SnWTxîe_YdtvSmM�U|kcVMlklQ�Odr8MsãbÜuÝ

2k Ygf¯knYd`øM Ln
z QTW\[

0 ≤ n < 3 · 2k−2 UdtvO n ≡ 3 (mod 6) G ^ YdcVMPY¯KdMac°IDfnYdcW\[]MaknM
n
IªW\[]Mªf°Ydx\xyYdz Q t£MøSVYdt£Mdclr8MatvSlMs[uYdxyO|k

ñ
	 � ô L3·2k−2+n ≡ Ln (mod 2k).

� ÓyÚPà ÚPà8Õ&ÚPà5ÓyÛVÝ ÕnèJÞ5ÓyÔRç|êáÕ°Ö8ßnÕ¯Ü|â���Õ°ãøç|ÛPÿl�
ÓyÖ ã
ÓyÖ8Ý6÷ U ÛVÜdú¸ÜRåPÓyÚPÓáÜdÖm�øåmçnò]åõÖ8ÜdÚPà5ÓyÖ5ébæ5Þ5Ú
vL(2k, b) = 2

â�ÜdÛ
b ≡ 4 ñ ãbÜJÝm� ô ì

±�² � � � �Z���|� � � ���l� � � �Z� � ¥|� � ¥ � ���g�6�Z� � � ¢ »`³ £6� � � � � ���l� �l�n� d ∈ Z
�

	&	



hicPYjYgf G �+Õ�àÐçnÔ#Õ&Õaý8çdß°ÚPêyò 2k−3 ÛVÕnåPÓáÝ]Þ8Õnå b
çdåiåPú¸Õnß°Ó­þÐÕnÝ�ç|Ö8Ý�ÚPà8Õ�ålç|ãbÕÁÖJÞ5ã©æDÕ°ÛõÜ|â

n
�±å¡ãbÕ°Ö]û

ÚPÓáÜdÖ8ÕnÝ
ÓyÖ
ÚPà8Õ&þ8ÛVåPÚ�åVÕ°Ö�ÚVÕ°Ö8ßnÕRì6öJÓyÖ8ßnÕ
L3 = 4, L9 = 76

åVà8Üjë"ÚPà8Õ©ÚPÛPÞ5ÚPàKÜ|â%ÚPà8Õ¯ú5ÛVÜdúDÜRåPÓyÚPÓáÜdÖ
â�ÜdÛ

k = 3
÷Rë¡ÕÁãøçnòbçdåVåPÞ5ãbÕ

k ≥ 4
ìF��Ü¯åmÕnÕqÚPà8ÕqÚPÛPÞ5ÚPàøÜ|âDÚPà8Õõþ8ÛVåPÚ¡çdåmåVÕ°ÛPÚPÓáÜdÖ=÷Rë¡Õ�åPàÐç|êyêÐç|ú5ú5êyò

ñ
	 � ô ëqÓyÚPà d = 3
ç|Ö8Ý

0 ≤ i < j < 2k−3 ìuüXâ j − i
ÓáåqÕ°Ô#Õ°Ö=÷uÚPà8Õ°Ö

3(j + i + 1) ≡ 3 ñ ãbÜuÝ�� ô ÷à8Õ°Ö8ßnÕ
ord2 F3(j+i+1) = 1

æ�ò�í=Õ°ã
ãøçr� ñ ÓyÓ ô ÷vç|Ö8Ý'ÚPà8Õpþ8ÛVåPÚ�ç|êyÚVÕ°ÛPÖÐç|ÚPÓyÔ#Õ©ÓyÖ ñ
	 � ô êáÕjçdÝ5å(ÚVÜ
ord2 (L6j+3 − L6i+3) = 1 + ord2 F3(j−i) = 3 + ord2 (j − i)

Þ8åPÓyÖ5ésç|êáåVÜ¯í=Õ°ã
ãøçi� ñ ÓyÔ ô ìuöJÓyÖ8ßnÕ ord2 (j− i) ≤ k−4
ë¡Õqé#Õ°Ú ñ
	 � ô ëqÓyÚPà d = 3

ì#üXÖøÚPà8Õ(ßjçdåVÕ
Ü|â¡ÜuÝ5Ý

j − i
÷vÚPà8ÕsÖ�Þ5ã©æDÕ°Û

3(j + i + 1)
Óáå,çøã©Þ5êyÚPÓyú5êáÕbÜ|âR�]÷vëqà8Õ°Ö8ßnÕ

ord2 L3(j+i+1) = 1
÷

æJò�í=Õ°ã
ãøç�� ñ ÓyÓyÓ ô ì£�õà8ÕpåVÕnßnÜdÖ8Ý'ç|êyÚVÕ°ÛPÖÐç|ÚPÓyÔ#Õ&ÓyÖ ñ
	 � ô ßnÜdãNæ5ÓyÖ8ÕnÝ'ëqÓyÚPà 3(j − i) ≡ 3 (mod 6)ÚPà8Õ°Ö êáÕjçdÝ5åÁÚVÜ
ord2(L6j+3 − L6i+3) = 1 + ord2 L3(j−i) = 3,æJò�í�Õ°ã
ãøçe� ñ ÓyÓ ô ìvöJÓyÖ8ßnÕ,ëiÕ©çdåVåPÞ5ãbÕnÝ k > 3

÷ ñ
	 � ô à8ÜdêáÝ5å�ç|êáåVÜ ÓyÖ ÚPà5ÓáåÁßjçdåVÕRì
�@Ü
ú5ÛVÜjÔ#Õ ñ
	 � ô â�ÜdÛqÚPà8Õ n

�±å(çdå(åPúDÕnß°Ó­þÐÕnÝ'ÚPà8Õ°ÛVÕR÷5ë¡Õ¯Ö8ÜdÚVÕ
L6(2k−3+j)+3 − L6j+3 = 5F3(2j+2k−3+1)F3·2k−3

åPÓyÖ8ßnÕ
3 · 2k−3 ÓáåiÕ°Ô#Õ°Ö=÷Jæ�ò k ≥ 4

ìJü¤ÖøÔuÓyÛPÚPÞ8ÕÁÜ|â
3(2j +2k−3 +1) ≡ 3 (mod 6)

ç|Ö8Ý�í=Õ°ã
ãøç
� ñ ÓyÓ ô ÷ ñ ÓyÔ ô ÷5ëiÕ,ÓyÖ]âTÕ°ÛõâTÛVÜdã�ÚPà8Õ&êïçdåPÚ�Õnè�ÞÐç|ÚPÓáÜdÖ

ord2(L6(2k−3+j)+3 − L6j+3) = 1 + (k − 1) = k,

ëqà8Õ°Ö8ßnÕ ñ
	 � ô ì �

�õà8ÕqâTÜdêyêáÜBëqÓyÖ5é U ÛVÜdúDÜRåPÓyÚPÓáÜdÖ8å\�pÚPà5ÛVÜdÞ5éRàQ�,ç|êyê8ßnÜdÖ8ßnÕ°ÛPÖøÚPà8ÕõÛVÕ°ãøç|ÓyÖ5ÓyÖ5éNßjçdåmÕ
b ≡ 2 ñ ãbÜuÝ

	 � ô ì
� >�=?�7=?�F������= �T´#B�~ YdcNUdx\x

n = 3 · 2[(k−1)/2]j
z Q\W\[

0 ≤ j < 2[k/2] IªW\[]MsSVYdt�MRclr8MatvSmM
ñ
	 Ø ô Ln ≡ 2 (mod 2k)

[uYRx­O|k GvH [�Q k&Q\`«Dvx�Q�Mlk vL(2k, 2) ≥ 2[k/2] G
hicPYjYgf G �8ÜdÛ k = 3

ç|Ö8Ý
k = 4

÷vÜdÖ8ÕNßjç|Ö Ý]ÓyÛVÕnß°ÚPêyò
ßVà8Õnßmÿ
ÚPà8Õ
L6j

ëqÓyÚPà
0 ≤ j < 2

ç|Ö8Ý
0 ≤

j < 4
ãbÜuÝ8� ç|Ö8Ý�ãbÜJÝ 	 �]÷]ÛVÕnåPúDÕnß°ÚPÓyÔ#Õ°êyò#ì � åmåPÞ5ã
ÓyÖ5é Ö8Üjë k ≥ 5

÷]ë¡Õ&àÐçjÔ#Õ
` := [k−1

2 ] ≥ 2
÷

ç|Ö8Ý'à8Õ°Ö8ßnÕR÷8æ�ò'í=Õ°ã
ãøç 	 ÷
Ln − 2 = L3·2`j − L0 = 5F 2

3·2`−1j

åPÓyÖ8ßnÕ
3 · 2`−1j

Óáå(Õ°Ô#Õ°Ö=ì��õà8Õ°Ö
í�Õ°ã
ãøçr� ñ ÓyÔ ô êáÕjçdÝ5å(ÚVÜ
ord2(Ln − 2) = 2 ord2 F3·2`−1j ≥ 2(` + 1) > k − 1,

	�




ëqà8Õ°Ö8ßnÕ ñ
	 Ø ô ì �

� >�=?�7=?�F������= ��µ#B�C r�DyD]Y|knM
k ≥ 5

Udt¸O©O�Mb¶ªt¸M
` := [k−1

2 ] GZH []Mat�W\[]M�SVYdt�Mdcar8MatvSmMlk mod2k

ñ�
 % ô L3·2`−1 ≡ 22` + 2, L3·2`−1(2j+1) ≡ L3·2`−1 (j ∈ Z)

[uYRx­O�Q\`0D¸xîedQ\t�M
vL(2k, 22[(k−1)/2] + 2) ≥ 2[k/2] ì

hicPYjYgf G üZâ ` ≥ 3 ⇔ k ≥ 7
÷5ÚPà8Õ°Ö ë¡Õ¯àÐçnÔ#Õ,ëqÓyÚPà
åmÜdãbÕ¯ÜJÝ5Ý�ÓyÖJÚVÕ°é#Õ°Û

u

L3·2`−1 − L0 = 5F 2
3·2`−2 = (1 + 4) · (2`u)2 ≡ 22` (mod 22`+2),

æJò�í�Õ°ã
ãøçr� ñ ÓyÔ ô ìvöJÓyÖ8ßnÕ 2(` + 1) ≥ k
ë¡Õ¯àÐçnÔ#Õ¯ÚPà8Õ,þ8ÛVåPÚ(ßnÜdÖ5éRÛPÞ8Õ°Ö8ßnÕ©ÓyÖ ñ�
 % ô ìvÒ�ÜdÚVÕ&ÚPàÐç|Ú

L6 = 18
éRÓyÔ#ÕnåpÓyÚVå(ÚPÛPÞ5ÚPà�ç|êáåVÜ
â�ÜdÛ

k = 5
ç|Ö8Ý

k = 6
ìvüXâ

k ≥ 5 ⇔ ` ≥ 2
÷8ÚPà8Õ°Ö ÚPà8Õ©åVÕnßnÜdÖ8Ý

ßnÜdÖ5éRÛPÞ8Õ°Ö8ßnÕ©ÓyÖ ñ�
 % ô Óáå(Üdæ5Úmç|ÓyÖ8ÕnÝ�âTÛVÜdã
ord2(L3·2`−1(2j+1) − L3·2`−1) ≥ 2(` + 1) + 1 > k

â�ÜdÛÁç|êyê
j ∈ Z

ì
�@Ü é#Õ°Ú¯ÚPà8Õbþ8ÖÐç|ê Óyã
ú5êyÓáßjç|ÚPÓáÜdÖ=÷@Ö8ÜdÚVÕbÚPàÐç|Új÷Dâ�ÜdÛ¯ÚPà8Õ
ÓyÖJÚVÕ°é#Õ°ÛVå

j
ëqÓyÚPà

0 ≤ j < 2k−`−1 ÷ÚPà8Õ,ÖJÞ5ã©æDÕ°Û
3 · 2`−1(2j + 1)

æ¸Õ°êáÜdÖ5é#åqÚVÜ {0, ..., 3 · 2k−1 − 1} ì �

� >�=?�7=?�F������= �}·5B�~ Ydc
k ≥ 7

Ydt¸M,[uU|k©W\[]MªfnYdx xyYdz Q\t�MøUdkmknM°caWTQ�Ydt5k GUL� H [5M
t8ru`øðVMaclk L12j+6
z QTW\[

0 ≤ j < 2k−7 UdcVMiD]UdQ\caz QïkjM
Q\tvSVYdt£Mdclr8MatÐW¯ãbÜJÝ 2k � W\[]MaknMUdcVM�I%Q t�knYd`øM&YdcgOJMac°I SVYdt�MRclr8MatÐW WZYsW\[]M¯OdQïk°WTQ t¸SnW
b∈{0, ..., 2k −1} z QTW\[ b ≡ 18 ñ ãbÜuÝ 	�
 � ô ìð¥�

L12(2k−6−j)−6 ≡ L12j+6 (mod 2k)
f°YRc©Udx x

j ∈ Z GS��
L3·2k−4+n ≡ Ln (mod 2k)

f°Ydc©URx x6` rux�WTQ�DvxáMlk
n
Ygf�¸ G

H Y­M�M°W\[5MacNW\[]MaknM¯kaWZURWXM°`bM°tÐW\k¯Q `«Dvx�e vL(2k, b) ≥ 16
fnYdc©UdtÐe

b ≡ 18 (mod 128) G
hicPYjYgf G ç ô �pÕ°ÛVÕ ëiÕ
ãøçjòFåPÞ5ú5úDÜRåVÕ k ≥ 8

ì\�/ÓyÚPà
0 ≤ i < j < 2k−7 ë¡Õ
ßnÜdÖ8åVÓáÝ5Õ°Û�ÚPà8ÕÕnèJÞÐç|ÚPÓáÜdÖ

ñ�
)	Bô L12j+6 − L12i+6 = 5F6(j+i+1)F6(j−i).

4%ý8çdß°ÚPêyò ÜdÖ8Õ+Ü|â ÚPà8Õ_Ö�Þ5ã©æDÕ°ÛVå
j + i + 1

æJ3në
j − i

Óáå
ÜJÝ5Ý6÷Áç|Ö8Ý ÚPà8Õ 
 ûXÜdÛVÝ5Õ°Û
Ü|âsÚPà8ÕßnÜdÛPÛVÕnåPúDÜdÖ8Ý]ÓyÖ5é
F
ÕnèJÞÐç|êáå ÚVÜ�(]ì)��ÖøÚPà8Õ�ÜdÚPà8Õ°Û¡àÐç|Ö8Ý6÷�ë¡ÕÁþ8Ö8Ý

0 < j− i < j + i+1 < 2k−6 ì�pÕ°Ö8ßnÕÁÚPà8Õ 
 ûXÜdÛVÝ5Õ°ÛqÜ|â=ÚPà8Õ F6(...)
ëqÓyÚPà�ÚPà8ÕpÕ°Ô#Õ°Ö

(...)
ÓáåªêáÕnåVå¡ÚPàÐç|Ö�ÜdÛ¡ÕnèJÞÐç|êvÚVÜ

k− 4
ì£�õà�Þ8åj÷

ñ�
)	Bô êáÕjçdÝ5åÁÚVÜ
ÜdÞ5Ûqþ8ÛVåPÚ(ß°êïç|Óyã ì � åqÚVÜ ÚPà8Õ¯åmÕnßnÜdÖ8Ý ÜdÖ8ÕR÷5ë¡ÕNç|ú5ú5êyò ñ�
)	Bô ëqÓyÚPà i = 0
ÚVÜ þ8Ö8Ý

ord2(L12j+6 − 18) = ord2 F6(j+1) + ord2 F6j = 4 + ord2 2(j + 1) + ord2 2j ≥ 7

åPÓyÖ8ßnÕ
j
ÜdÛ

j + 1
Óáå(Õ°Ô#Õ°Ö=ì��õà8Õ°ÛVÕaâ�ÜdÛVÕR÷8ë¡Õ©Üdæ5Úmç|ÓyÖ

L12j+6 ≡ 18
ãbÜuÝ]Þ5êáÜ

27 = 128
ì

æ ô "iò L−n = Ln
âTÜdÛ(Õ°Ô#Õ°Ö

n
÷uÓyÚ(Óáå(Õ°Ö8ÜdÞ5éRà
ÚVÜbßnÜdÖ8åPÓáÝ5Õ°Û(ÚPà8Õ,Ý]Ó{z6Õ°ÛVÕ°Ö8ßnÕ
L3·2k−4−(12j+6) − L−(12j+6).

	 (



� ßnßnÜdÛVÝ]ÓyÖ5é�ÚVÜ
ÚPà8Õ&ÚPà5ÓyÛVÝ ßjçdåVÕ¯Ü|â í=Õ°ã
ãøçe� ñ Ô ô ÓyÚVå 
 ûXÜdÛVÝ5Õ°ÛÁÓáåÁç|Ú(êáÕjçdåPÚ k
ì

ß ô � é�ç|ÓyÖKæ�ò'í=Õ°ã
ãøça� ñ Ô ô ÷5ÚPà8Õ©Ý]Ó{z6Õ°ÛVÕ°Ö8ßnÕ L3·2k−4+n − Ln
àÐçdå 
 ûXÜdÛVÝ5Õ°Û,ç|Ú(êáÕjçdåPÚ k

åPÓyÖ8ßnÕ
n
Óáå(Ý]ÓyÔuÓáåPÓyæ5êáÕ&æ�ò8�]ì
�@ÜbÜdæ5Úmç|ÓyÖ'ÚPà8Õpþ8ÖÐç|ê�ßnÜdÖ8ß°êyÞ8åPÓáÜdÖ=÷8Ö8ÜdÚPÓáßnÕ&ÚPàÐç|Új÷8ç|ãbÜdÖ5ébÚPà8Õ

L12j+6
ëqÓyÚPà

0 ≤ j < 2k−6 ÷Õjçdßmà
b
çdåøÓyÖ ç ô Üußnß°Þ5ÛVå�Õaý5çdß°ÚPêyò�Ú¤ëqÓáßnÕ�çdåøÛVÕnåPÓáÝ]Þ8ÕKãbÜuÝ 2k ÷¡æ�ò�æ ô ìRx�åVÓyÖ5é�ß ô ë¡Õ Ö8ÕaýuÚÝ5ÕnÝ]Þ8ßnÕ�âTÛVÜdã�ÚPà5Óáå êïçdåPÚ âZçdß°ÚsÚPàÐç|Új÷�â�ÜdÛ
Õ°Ô#Õ°ÛPò

t ∈ {1, ..., 8} ÷ ÚPà8Õ°ÛVÕ ç|ÛVÕ'Õaý8çdß°ÚPêyò�ÚXë¡Ü j ∈
{(t − 1)·2k−6, ..., t·2k−6 − 1} åVÞ8ßVà
ÚPàÐç|ÚÁÚPà8Õ©ßnÜdÛPÛVÕnåPúDÜdÖ8Ý]ÓyÖ5é L12j+6

ç|ÛVÕ¯ßnÜdÖ5éRÛPÞ8Õ°Ö�ÚpãbÜJÝ
2k ÚVÜ ç�éRÓyÔ#Õ°Ö b

çdå,ÓyÖ�ç ô ì ñ ÒpÜdÚVÕ 12 · (8 · 2k−6 − 1) + 6 = 3 · 2k−1 − 6
Óáå,ÚPà8Õ êïçdåPÚNÜJÝ5Ý

ãNÞ5êyÚPÓyú5êáÕ©Ü|â � êáÕnåVåõÚPàÐç|Ö
3 · 2k−1 ì ô �

� >�=?�7=?�F������= ��¹#B�� f
k ≥ 9

I6W\[5MatJI#fnYdcÁMLK|Macae
` ∈ {5, ..., [ k+1

2 ]} I�W\[]M6fnYdx\x­YRz Q t�M,kaWZURWXM°`bM°tÐW\k[uYRx­O GUL� ~ YdcNUdt8e
j ∈ Z

I¡Ydt¸M¯[uUdk
ñ�
&
#ô L3·2`−3(2j+1) ≡ 5 · 22`−4 + 2 (mod 22`−1).

ð¥� H [5M,t8ru`øðVMaclk L3·2`−3(2j+1)

z Q\W\[
0 ≤ j < 2k−2`+1 UdcVM�D]UdQ\clz Q knM¯Q\tvSVYdt�MRclr8MatÐW mod2k GS�� ~ Ydc©Udx\x

j ∈ Z
I¡YRt¸M&[]U|k©W\[]MNSVYdt�Mdcar8MatvSmM

L3·2`−3(2k−2`+3−2j−1) ≡ L3·2`−3(2j+1) (mod 2k).

OL� ~ YdcNUdx\x
j ∈ Z

IªYdtDM,[]U|k
L3·2k−`+3·2`−3(2j+1) ≡ L3·2`−3(2j+1) (mod 2k).

® x\x=W\[]MlkjMNSnx­UdQ\`sk¯WZY­M�M°W\[]M°cNQ\`«Dvxîe
vL(2k, 5 · 22`−4 + 2) ≥ 2` G

hicPYjYgf G ç ô Ò�ÜdÚPÓáßnÕ,þ8ÛVåPÚqÚPàÐç|Új÷5Þ8åPÓyÖ5éøí�Õ°ã
ãøçr� ñ ÓyÔ ô ÷]ë¡Õ,àÐçjÔ#Õ¯ëqÓyÚPà
åVÜdãbÕ,ÜuÝ5Ý u

L3·2`−3 − L0 = 5F 2
3·2`−4 = 5 · (2`−2u)2 ≡ 5 · 22`−4 (mod 22`−1),

ëqà5Óáßmà
Óáå ñ�
&
#ô â�ÜdÛ j = 0
ìJ�8Þ5ÛPÚPà8Õ°ÛPãbÜdÛVÕR÷ÐëiÕ&þ8Ö8Ý�âTÛVÜdã

L3·2`−3(2j+1) − L3·2`−3 = 5F3·2`−3(j+1)F3·2`−3jÚPàÐç|Ú(ÚPà8Õ 
 ûXÜdÛVÝ5Õ°ÛÁÜ|â�ÚPà5ÓáåÁÝ]Ó{zDÕ°ÛVÕ°Ö8ßnÕ©ÓáåÁç|ÚqêáÕjçdåPÚ 2` − 1
÷5ëqà8Õ°Ö8ßnÕ ñ�
&
#ô â�ÜdÛÁç|Ö�ò j

ì
æ ô üXâ k

Óáå�ÜJÝ5Ý ç|Ö8Ý
` = (k + 1)/2

÷&ÚPà8Õ°Ö ÚPà8Õ°ÛVÕ Óáå_Ö8ÜdÚPà5ÓyÖ5é ÚVÜ æDÕ�ú5ÛVÜBÔ#ÕnÝ6ìi"iÞ5Ú_Ó­â
{0, ..., 2k−2`+1 − 1} ßnÜdÖ�Úmç|ÓyÖ8å(Ú¤ë¡Ü�Ý]ÓáåPÚPÓyÖ8ß°ÚqÖ�Þ5ãNæ¸Õ°ÛVåj÷Ðåmçnò#÷ 0 ≤ i < j < 2k−2`+1 ÷]ÚPà8Õ°Ö'ë¡ÕßnÜdÖ8åPÓáÝ5Õ°Û

L3·2`−3(2j+1) − L3·2`−3(2i+1) = 5F3·2`−3(j+i+1)F3·2`−3(j−i).�õà8Õ 
 ûXÜdÛVÝ5Õ°ÛKÜ|âsÚPà5Óáå Ý]Ó{z6Õ°ÛVÕ°Ö8ßnÕ�Óáå
ç|Ú
ãbÜRåPÚ 2(` − 1) + (k − 2` + 1) = k − 1
åPÓyÖ8ßnÕ

0 < j − i < j + i + 1 < 2k−2`+2 ç|Ö8Ý�Õaý8çdß°ÚPêyò�ÜdÖ8ÕpÜ|â�ÚPà8ÕpÖ�Þ5ã©æDÕ°ÛVå j + i +1, j − i
ÓáåõÜJÝ5Ý6ì

ß ô �8ÛVÜdã
L3·2k−`−3·2`−3(2j+1) − L3·2`−3(2j+1) = 5F3·2k−`−1F3·2k−`−1−3·2`−3(2j+1)

	 �



ëiÕ¯åVÕnÕ&ÚPàÐç|Ú(ÚPà8Õ 
 ûXÜdÛVÝ5Õ°Û�Ü|â�ÚPà8Õ¯Ý]Ó{z6Õ°ÛVÕ°Ö8ßnÕ,ÓáåÁç|ÚÁêáÕjçdåPÚ (k − ` + 1) + (` − 1) = k
ì

Ý ô öJÚmç|ÛPÚPÓyÖ5ébâ\ÛVÜdã
L3·2k−`+3·2`−3(2j+1) − L3·2`−3(2j+1) = 5F3·2k−`−1F3·2k−`−1+3·2`−3(2j+1)ëiÕ¯ßnÜdÖ8ß°êyÞ8Ý5ÕNçdåqÓyÖ ß ô ì�õà8ÕøåPÞ5æ8åVß°ÛPÓyú5Ú

3 · 2`−3(2j + 1)
Ü|âiÚPà8Õbí=Þ8ßjçdå¯Ö�Þ5ãNæ¸Õ°ÛsÓyÖ ñ�
&
#ô æDÕ°êáÜdÖ5é#å,ÚVÜ {0, ..., 3 ·

2k−1 − 1} Ó­âªç|Ö8ÝKÜdÖ5êyò'Ó­â 0 ≤ j < 2k−`+1 ì � ßnßnÜdÛVÝ]ÓyÖ5é�ÚVÜ�ç ô ç|Ö8Ý
æ ô ÚPà8Õ°ÛVÕ¯Óáå�Õaý5çdß°ÚPêyò'ÜdÖ8Õ
j0 ∈ {0, ..., 2k−2`+1 − 1} ÷�â�ÜdÛ¯ëqà5ÓáßVà�ÚPà8ÕøßnÜdÛPÛVÕnåPúDÜdÖ8Ý]ÓyÖ5é L3·2`−3(2j0+1)

Óáå©ßnÜdÖ5éRÛPÞ8Õ°ÖJÚsÚVÜ
5 · 22`−4 + 2

ãbÜJÝ
2k ì��õà8Õ�ç|æDÜjÔ#ÕøåmÕ°Ú {0, ..., 2k−`+1 − 1} Ý5ÕnßnÜdã
ú¸ÜRåVÕnå©ÓyÖ�ÚVÜ 2` Ý]Óáåº2PÜdÓyÖ�ÚåPÞ5æ8åmÕ°ÚVåqÜ|â�åPÞ8ßnßnÕnåVåVÓyÔ#Õ&ÓyÖ�ÚVÕ°é#Õ°ÛVå(Ü|â�ÚPà8ÕpâTÜdÛPã

Sλ := {λ · 2k−2`+1, ..., (λ + 1) · 2k−2`+1 − 1}ëqÓyÚPà
λ = 0, ..., 2` − 1

ìy�õà8Õ°Ö�ß ô ç|Ö8Ý�Ý ô Óyã
ú5êyòbÚPàÐç|Új÷�ÓyÖ�ÕjçdßVà'Ü|â=ÚPà8ÕnåVÕ Sλ
÷�ÚPà8Õ°ÛVÕÁÓáåõÕaý8çdß°ÚPêyò

ÜdÖ8Õ
jλ
åPÞ8ßmà�ÚPàÐç|Ú

L3·2`−3(2jλ+1)

ÓáåõßnÜdÖ5éRÛPÞ8Õ°Ö�ÚqÚVÜ
5 · 22`−4 + 2

ãbÜJÝ
2k ÷uëqà8Õ°Ö8ßnÕ�ÚPà8ÕpêáÜBë¡Õ°ÛæDÜdÞ5Ö8ÝKâTÜdÛ

vL(2k, 5 · 22`−4 + 2)
ìDÒ�ÜdÚPÓáßnÕNÚPàÐç|Ú,ÜdÞ5Û�ÓyÖ]â�ÜdÛPãøç|ÚPÓáÜdÖ+ÜdÖ ÚPà8Õ

jλ
ÓáåÁãNÞ8ßVà�ãbÜdÛVÕ

ú5ÛVÕnß°ÓáåVÕ ñ ÚPàÐç|ÖFÜdÖ5êyò jλ ∈ Sλ ô çdå
â�ç|Ûøçdå
ÚPà8Õ
Õaý5çdß°ÚbúDÜRåPÓyÚPÓáÜdÖ�Ü|â jλ
ÓyÖ

Sλ
ÓáåbÕaý]ú5êyÓáß°ÓyÚVÕ°êyò

Ý5Õ°ÚVÕ°ÛPã
ÓyÖ8ÕnÝ
æ�ò�ÚPà8Õ,úDÜRåPÓyÚPÓáÜdÖ Ü|â
j0
ÓyÖ

S0
ì

�

¤ �¥��P\[»¦m>�§n¨R@Q<����R© � ßnßnÜdÛVÝ]ÓyÖ5éKÚVÜ ÜdÞ5Û©åPÚmç|ÚVÕ°ãbÕ°ÖJÚNÝ]ÓyÛVÕnß°ÚPêyò+ç�âTÚVÕ°Û U ÛVÜdúDÜRåPÓyÚPÓáÜdÖ�('ç|Ö8Ý
ç|Ú(ÚPà8Õ,Õ°Ö8Ý
Ü|â U ÛVÜdúDÜRåPÓyÚPÓáÜdÖo�8÷]ë¡Õ,àÐçjÔ#Õ

∑

0≤b<2k

b6≡2 (16)

vL(2k, b) = 1 · 2k−2 + 3 · 2k−2 + 2 · 2k−3 = 5 · 2k−2.

xpåPÓyÖ5é
ÚPà5Óáå�ç|Ö8ÝQ��ç|êyê!�±å(âTÜdÛPãNÞ5êïç
hL(2k) = 3 · 2k−1 ÷]ë¡Õ©Üdæ5Úmç|ÓyÖ

ñ�
 ( ô ∑

0≤b<2k

b≡2 (16)

vL(2k, b) = 2k−2.

ÒpÜjë¯÷@â�ÜdÛ
k = 3

ç|Ö8Ý
k = 4

÷�ÚPà8Õ�Õnè�ÞÐç|êyÓyÚ¤ò
2k−2 = 2[k/2] à8ÜdêáÝ5åj÷�ëqà8Õ°Ö8ßnÕR÷�æ�ò ñ�
 ( ô ç|Ö8ÝU ÛVÜdúDÜRåPÓyÚPÓáÜdÖo�]÷

vL(2k, 2) = 2[k/2] ç|Ö8Ý vL(2k, b) = 0
âTÜdÛ(ç|êyê

b ≡ 2 (mod 16), b 6= 2
ì5ÒpÕaýuÚj÷

â�ÜdÛ
k = 5

ç|Ö8Ý
k = 6

÷¸ë¡ÕNàÐçnÔ#Õ
2[k/2] + 2[k/2] = 2k−2 � ÚPà8Õ°ÛVÕaâ�ÜdÛVÕ ñ�
 ( ô ç|Ö8Ý U ÛVÜdúDÜRåPÓyÚPÓáÜdÖ8å��ç|Ö8Ý+�bÓyã
ú5êyò

vL(2k, b) = 2[k/2] âTÜdÛ b ∈ {2, 22[(k−1)/2] + 2} ÷6ç|Ö8Ý vL(2k, b) = 0
â�ÜdÛ,ç|êyê

ÜdÚPà8Õ°Û
b ≡ 2 (mod 16)

ì6üXâ
k ≥ 7

÷DÚPà8Õ°Ö_ÚPà8Õ
b
�±å&ÓyÖ_ÚPà8Õ
åPÓ­ýuÚPà_êyÓyÖ8Õ ÜdÖ�ÚPà8ÕsÛPÓyéRà�ÚgûZàÐç|Ö8Ý�åPÓáÝ5Õ

Ü|â ñ � ô ç|ÛVÕ12gÞ8åPÚsÚPà8Õ 128j + 18
ëqÓyÚPà

0 ≤ j < 2k−7 ìZ�8ÜdÛ k = 7
ç|Ö8Ý

k = 8
÷ ÜdÖ8Õ�åmÕnÕnå

2 · 2[k/2] + 16 · 2k−7 = 2k−2 � ú5êïç|ÓyÖ5êyò#÷vë¡Õ©Þ8åVÕ,à8Õ°ÛVÕ ñ�
 ( ô ç|Ö8Ý U ÛVÜdú¸ÜRåPÓyÚPÓáÜdÖ8å��]÷X�øç|Ö8Ý�� ÚVÜßnÜdÖ8ß°êyÞ8Ý5ÕRì@öJÞ5ú5úDÜRåVÕNþ8ÖÐç|êyêyò
k ≥ 9

ìDÒ�ÜdÚVÕ ÚPàÐç|Ú&ÚPà8Õ
b
�±å&ÓyÖ ÚPà8Õ
åmÕ°Ô#Õ°Ö�ÚPà�êyÓyÖ8ÕsÓyÖ ñ � ô ßjç|Ö æDÕëqÛPÓyÚPÚVÕ°Ö=÷8âTÜdÛ(Õ°Ô#Õ°ÛPò

` ∈ {5, ..., [(k + 1)/2]} ÷ÐÓyÖ'ÚPà8Õ&â�ÜdÛPã
22`−1j + 5 · 22`−4 + 2 (0 ≤ j < 2k−2`+1).

�õà8Õ°Ö=÷¸æ�ò U ÛVÜdú¸ÜRåVÓyÚPÓáÜdÖ+�]÷vÚPà8ÕsßnÜdÖ�ÚPÛPÓyæ5Þ5ÚPÓáÜdÖ�Ü|â êyÓyÖ8Õr�
ÚVÜ�ÚPà8ÕsêáÕaâ\ÚgûZàÐç|Ö8Ý åPÓáÝ5ÕsÜ|â ñ�
 ( ô Óáå&ç|ÚêáÕjçdåPÚ
[(k+1)/2]

∑

`=5

2` · 2k−2`+1 = 2k−3 − 2[k/2]+1.

	 �



�õàJÞ8åj÷JâTÜdÛ
k ≥ 9

÷JÚPà8ÕpßnÜdÖ�ÚPÛPÓyæ5Þ5ÚPÓáÜdÖ Ü|â�ÚPà8Õ
b
�±å¡åPúDÕnß°Ó­þÐÕnÝ�ÓyÖ�êyÓyÖ8Õnå\�NÚPà5ÛVÜdÞ5éRàm�¯Ü|â ñ � ô ÚVÜ©ÚPà8ÕêáÕaâTÚgûZàÐç|Ö8Ý åPÓáÝ5Õ¯Ü|â ñ�
 ( ô ÓáåÁç|ÚqêáÕjçdåVÚ

2 · 2[k/2] + 16 · 2k−7 + (2k−3 − 2 · 2[k/2]) = 2k−2.

�õà5ÓáåiãbÕjç|Ö8åõÚPàÐç|Úqç|êyêvêáÜBë¡Õ°ÛqæDÜdÞ5Ö8Ý5åªâ�ÜdÛiÚPà8Õ
vL(2k, b)

ç|ú5úDÕjç|ÛPÓyÖ5ébç|Ú¡ÚPà8ÕpÕ°Ö8Ý�Ü|â U ÛVÜdúDÜRåPÓyÚPÓ­û
ÜdÖ8å��NÚPà5ÛVÜdÞ5éRàm�]÷uÓyÖ�â�çdß°Új÷5ç|ÛVÕ&Õnè�ÞÐç|êyÓyÚPÓáÕnå�ç|Ö8Ý6÷JãbÜdÛVÕnÜBÔ#Õ°Ûj÷5ÚPàÐç|Ú

vL(2k, b) = 0
à8ÜdêáÝ5åiâ�ÜdÛqç|êyê

ÛVÕnåPÓáÝ]Þ8Õnå
b
ãbÜuÝ

2k Ö8ÜdÚqãbÕ°Ö�ÚPÓáÜdÖ8ÕnÝKÓyÖ'êyÓyÖ8Õnå��
ÚPà5ÛVÜdÞ5éRà/� Ü|â@â�ÜdÛPã©Þ5êïç ñ � ô ì

�7¼Ð�J¼Ð�7¼ À ��¼¸�
½ »�¾ ~¸« À7¿ �|�5À@«�À �5Á � ºRÂ5ÃmÄÆÅ�Ç�È�É{Ê!Ä.Ë�ÉÍÌ�Î�Ä.ÉÍÏ�Ã�ÏºÐ0ÑXÉÍÌ!Ï�Ã&ÒLÓ�Ó�É\Ã�Î�ÔvÌ�Ç¥Ë�ÊZ� � � �q´ �l��¬
® � ¶ � �Z�J�#Õ_¢ » ½�Ö­×n£ �Ö ³`Ø Öm½B�½ ² ¾ �D}@�@� ¦ Á5� ² ��Ù ® }��#Ú%~6��Ú À¡� ¼=�l��� º�Û�Ã¯Ì�Ï°ÎEÃ¯ÈÜÇ�È?Ê!ÄÝÒ�Ì�É.Þ ÉÆÄ.ß?ÏºÐ�Ä.à5Ï�áÝÄNÇ¥Ë�ÔâË�Ç�Ó�ÎEË�Ë!Ç¥Ã¯Ó�Ç7Ê
Ç�ã�Î�Ç¥Ã&Ó�Ç¥Ê�ÔvÏ`È°Î�Þ�Ï

2k � } � � � } � �±�Z�J�¯äEå
¢ » ½l½ ³ £ � ¼ ² ½ Ø ¼�× ³ �½ ¼ ¾p® }��#Ú%~6��Ú Àª� ¼6�a��� º�æ�É{Ê!Ä.Ë�ÉÍÌ�Î�Ä.ÉÍÏ�Ã$ÏºÐ#ÄÆÅ�Ç�ÑXÉÍÌ!Ï�Ã¯Ò�Ó!Ó�É£Ã�Î�ÔnÌ¥Ç¥Ë�Ê#ÔvÏ`È 2k � �]��� � �|�l�g� �&ç�� � � �P�Üè�é&¢ » ½a½ ² £ �² »l» Ø\² » ³ �½ × ¾ ¾ À «���À �°¿ � ¼=� º�êFÇ¥ÔRÉÆÃ�Î�Ô�Ç¥Ë�ÉÍÓ!ÒLÞ�ë7Þ ì�Ï°Ë¥É{ÄÆÅÜÔRÊ�í�î�Å�Ç#ë�Ë¥ÄJÏºÐ ï�Ï°Ô�ð¯Î�ÄNÇ¥Ë�ñ�ËºÏ!ì�Ë�Ò�Ô\ÔRÉ{ÃÜìl��ò � �y� ² � ² �d� � � � �} �|� ��� � � ² �����¨� �n� ��� �a� � �|¬�� ¶ } �#» ½Ló » �½ ³ ¾ ¾ Ú%~D� ¦ ��ô �vÀ � º p áNÒ�È�ÉÍÓ�Ã�Î�ÔnÌ¥Ç¥Ë�Ê!õ p ábÒLÈ�ÉÍÓ�Ò�Ã&ÒLÞ ß°Ê!É{Ê!õ?Ò�Ã&È�ö­Ç¥ÄÝÒLá Ð¥Î�Ã&Ó�Ä.ÉÍÏ°Ã�ÊZ� ² �|� � � � � �B¥ � � �|¬ � � �¸À � §÷ �m� ´(��� � �y� �u» ½Ló�×B�½ ³°¾ ¾ « ¦ Á ¼8�%� � �8��Ù��EÀ ¦ «Z¼ �R® � Ø �R� ºyëkÈ°É{Ê!Ä.Ë¥ÉÍÌ�Î�Ä.ÉÍÏ°Ã$ð¯ËºÏ¥ð�Ç¥Ë¥Ä.ßøÏºÐ?ÄÆÅ�Ç\Ê�Ç�ã�Î�Ç¥Ã&Ó�ÇvÏºÐZùJÎ�Ó�Ò°Ê?Ã�Î�ÔvÌ�Ç¥Ë¥ÊZ� ¼8���g�&�¶ � �Z���&ú&äN¢ » ½�Ö ² £ �u» µ°Ø »a» �½ Ö ¾ ¾ « ¦ Á ¼8�%� � �Ð��Ù6��À ¦ «Z¼ �¸® � Ø �R� º�ëûÈ�ÉÆÊ�Ä.Ë�ÉÍÌ�Î�Ä.ÉÍÏ�Ã;ð¯ËºÏ¥ð�Ç¥Ë�Ä.ßhÏbÐøÄÆÅ�ÇiÊ�Ç�ã�Î¯Ç¥Ã¯Ó�Ç�ÏºÐ0ÑXÉÍÌ!Ï�Ã¯Ò�Ó!Ó�É?Ã�Î�ÔvÌ�Ç¥Ë¥ÊZ��]��� � �d�m�g� �)ç�� � � �P�Fü�é ¢ » ½�Ö ² £ � ¼LÖ ³­Ø ¼LÖLÖj�½ ó ¾�À ¦ ¼ ¿ ¼8����¼ ¦ �#¼8� � À¡� º�æZÉ{Ê!Ä.Ë¥ÉÍÌ�Î�Ä.ÉÍÏ°ÃiÏºÐ#ÑXÉÍÌ!Ï�Ã¯Ò�Ó!Ó�É)Ã�Î�ÔnÌ¥Ç¥Ë�Ê � � � 5k � �]��� � �d�l��� �yç�� � � �P�¯ü�é¯¢ » ½�Ö ² £ �¼�Öm¼ Ø ¼�Ö­×��½ ½ ¾�À ¦ ò ¼ À¡� ¦ � º�ÛyÃ�É Ð�Ï�Ë¥Ô�È°É{Ê!Ä.Ë¥ÉÍÌ�Î�Ä.ÉÍÏ°ÃrÏºÐ�Ê�Ç!ã�Î�Ç¥Ã¯Ó¥Ç¥ÊRÏºÐ�É{Ã�ÄNÇÍìÜÇ¥Ë�ÊZ� � � �l� �g�R}��q� � � ¶ � �Z�J�R� � � �&ý¯þ ¢ » ½ ³j» £ �³a²`Ø ³j» �½ » µ ¾ �EÀ ¦ « � ² �R�@��Ù#�5À�« � �@� ¦ � ºyæZÉ{Ê!Ä.Ë¥É.Ì�ÎEÄ.É.Ï�ÃeÏbÐ�ÄÆÅ�ÇZÑXÉÍÌ!Ï�Ã&ÒLÓ�Ó�ÉXÃ�Î�ÔvÌ�Ç¥Ë�Ê�ÔvÏ`È�ÎEÞ�Ï 3k � �]��� � �d�l��� ��ç�� � � �P�åFès¢ ²lµlµ°³ £ � ²a²`Ø\² óB�½ »a»�¾ ��Ú ¶ ¼8� � �Ð��Ùj�D}���� ¦ Á]� ² � º�ê�ÄÝÒLÌ�É.Þ É{Ä.ßRÏºÐ�Ê�Ç�Ó!Ï�Ã&È�ábÏ�ËºÈÜÇ¥ËZË�Ç!Ó�Î�Ë�Ë!Ç¥Ã¯Ó¥Ç¥Ê�ÔvÏ`È�ÎEÞ�Ï pr � ¦ � �P� ® � ¶ � �Z��� ¶ � �Z�J�� � �y�¯ú¯ès¢ ²lµlµaµ £ � ²a²l³­Ø\² × » �½ » ² ¾ ² }��J� ��¿ � ¿ � º&ÑXÉÍÌ!Ï�Ã¯Ò�Ó!Ó�ÉXÊ�Ç¥Ë�ÉÝÇ¥Ê�ÔvÏ`È°Î�Þ�ÏvÔi� }��q� � � ¶ � �Z�J� ¶p� � �Z��� ��ÿ äN¢ » ½ ³ µ £ � ³l²a³­Ø\³ ¼ ² �
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